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\_/LQ Weight of one bag of cement is:
U#F &1 e &1 g gar &

(A) 70kg «(B) 50kg ' @
(C) 60kg (D) 65kg
. SJZ@) Los Angles machine is used to test aggregate
(A) Crushing strength (B) Impact va;uer @‘.— @
(C) Abrasion resistance (D) Water absorption -
S QTN el g B s for

The insoluble residue in cement should be
(A) Between 20% to 25%
(B) Less than 20% - @
(C) Between 10% to 20%
« (D) Less than 1.5%
e ¥ argeaeiia sraem 2 =gy
{(A) 20% 9§ 28% o dIg @}
B) 20% A H "
C) 10% 3 20% & 9=
D) 15% | FH

/4 For checking the length of bricks as per Indian standards how many bricks
are to be taken:

ST =nfed:
(A) 10 B) 15
(© 2064 = @) 25

N/S@ In analysis of rates, contractor profit is taken at the rate of
WWWWWWWWWW} %:@5

(A) 1% B) 5%
» (C) 10% (D) 20%
Thickness of plastering is usualty:
\é HHIRTAT @ReY B WerE Bl 2 /=
o2(A) 6 mm s (B) 12 mm W
{C) 25 mm (D) 40 mm
/@ No deduction is made while plaster measurement in case of small openings
upto '
R B TNE D owwm . e BT /YR /g seEr gy
P BN T B o 2
- {A)y 0.1 sq.m (B) 0.3 sqm
4(C) 0.5 sq.m (D) 0.7 sq.m
2 [PTO.

EJE-2018 / lII_A ]




fafaa st / CIVIL ENGINEERING
Principle of surveying followed to prevent accumuldation of errors is:
_(A) To work from whole to part
(B) To work from part to whole @
(C) Both (A) & (B) -

(D) none of above ‘-gﬁ &
sioh gt @ v &g W @ Pee R & \ﬁ/
(A) Hguf w1 § JHif¥reds WRT B MR AIEHT HT 9
(B) 3f¥fre wWrT A wYol |WrT @ 3R |derer e S
(C) <Y (A) @ (B) o 7
D) TR F o b k.
As per Indian standard, the length of one link in 30m chain is ﬁt‘)
R HFAGFER, 30 Ay SKg B Y Bl @ ddig 8 g “ e
(A) 30 cm - (B) 20 cm X
(C) 40 cm (D) 10 cm §
'@ f reduced bearing of a line is N 87°W, its whole circle bearing will be:
e afz e Y @1 Wi fRaae NBTDWQ?ﬁ‘S‘ﬂWTﬁWw&D
. o g .- ° =
: ; ©
© 3° D) 267° 0} 'Lﬁ'
l{@ In a plane table survey, the plotting of inaccessible points can be co vemently
done by “
O (A) Method of resection (B) Method of fadmﬂon ,@
(C) Method of traversing J&B) Method of intersection

o1 figall & qft @9 Qeer (BT yed) Rua § AT W g T O#),
T fagall & Refy aneras e @9 S wderor ot fafr & smareh
d o wan &

(A) Refer FPeaer fafer (B) fafdpzor fafer
_ (©) wafr fafy (D) ufo=re fafy
% Line joining points of equal elevations on earth surface is called
(A) Contour surface (B) Contour gradient @
@ - @(C) Contour line (D) All of above .
yeflaet & WA Souar arel f@galt @7 e aeh Y ssan &
(A) FH<I WE B) T AeT=<
(C) <R T (D) Su¥ad
\/ If angle of internal friction of soil is 30°, coefficient of active earth pressure
T will be: _ _
@_’ afe g=1 @1 aaRe Bder Hor 300 & O Wiy Qfaed) y—am quis
BT
Ay 172 e (B) 1/3
) 1/4 (DY 2/3

EJE-2015 / 1A ] 3 [ P.T.O.
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x)éThe angle of internal friction

T AD 3T A saRe =dor @t ¢ #@pmr

soils is equal to

&

¢ for cohesive

A\

AA) o0° (B) 30°

(C) 450 (D) 15°©

Plasticity index of soil is equal to
=(A) Liquid limit- Plastic limit (B) Liquid limit- Elastic limit ~Y{3)
(C) Elastic limit- Plastic limit (D) Elastic limit- Consistency limit
I&81 BT Yuca Yudbids BEr 2

(A) =9 YWE—gaea W B) <T - yenwer AT
(C)mm—mﬁwm)mﬁm—mvﬁm
Coefficient of uniformity is

HHET qunie &

an
- Dso ) D?.o po:
( ) DBO (B) DIO @
DSO
©) F e (D) None of above / Sydtag 3 Brs HEl

- ,}’ | The maximum size of
4N © :

N facdy @ o

clay particle is <

[

o A Pl B o5 e 1o N 30 S

3

If salt is added in water. the
) Increase

®T fSFHan "7 2

(B) 0.03 mm

©

@) 0.0002 mm

surface tension of water wil‘lk:1

—¢ (B) Decrease

(C) Will not change (D) None of the above
9 H 9He Sfey U 9y oy g5 +

(A)  wgaT B) G

(C) smaRefda <2 @) ST d 4 FF a8

When metacenter and

floating body will be:

(A) In Stable cquilibrium
®(C) In Neutral Equilibrium

(A) Rer wger #
(C) Sar™= wgers ¥

® (A} _Less than 2000
(C) Between 4000 and 6000

mﬁk-mmﬁf?{ﬁi—m

2000 ¥ &H
4000 ¥ 6000 T &9

(A)
()

EJE-2015 7 11I_A ]

In Unstable equilibrium
in Real equilibrium

(B)
(D)

(B) IJRer wgs= &
(D) gy wHgers &
Reynolds’s number is ™. *

(B) Between 2000 and 4000
(D) Equal to 10000

e 8 afEa:
(B) 2000 & 4000 @ dig
() 10000

4

center of gravity of any floating body coincide, the

©

TP T B U¥ B R a9 @

@

[P.T.O.
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When various fluid particles move in Zig-Zag paths, flow is called: ‘¢

(A) Laminar flow - e(B) Tuarbulent flow 19
(C) Uniform flow (D) None of above
ag wars, o 9asa g9 »or ee—ae wl & vaifea 81a & w=Eenar &
(A) W™ g B) faasg gaw
(©) amRadt uaE D) SR § HE A8
22  The color of upper part of kilometer stone on road side in case of state
highway is
M.A) Green 2 (B) Yellow (C) Brown (D) Red
WW%W@@WW&IWW%MW
@I [T BT &
(A) 83 B) uar C) 91 (D) o
\/225 The width of broad gauge is ‘
e AW W e e &
(A) 1576 m «(B) 1676 m (C) 1.776 m 167 m
\/2/ The value of ruling gradlent in plains as per Indian Road Congrcss
(A 1in 10 B) 1in 15 (C) 1 in 20 (D) 1 in 30@
HARNA Hgh HidH D JgAR 9Hde o) efeia dfsve @k 2 %é
A) 10 1 (B) 15 # 1 (C) 20 ¥ 1 @) 30 #A 1
© The maximum allowable super elevation is: 7
(A) 1inl12 S8B) 1in 18 «(C) 1in 15 ®) 1in30 }
oy el gur ade= &1 759 B
(A) 12 i1 (B) 18 ¥ 1 (C) 15 ¥ 1 @) 30 ¥ 1 d
3@ Manhole i1s generally provided at each: 2™ i
(A) Bend (B) Junction @
(C), Change of gradient « (D) All of above
A8 FHIRGOOT ST Sl 8
(A) R HIg W B) B SowT O
(C) wavrar d & uRadd wr (D) Sudaa ) Uz
The solid content of sewage is usually: v
wEFIaAr A (Ae) ¥ ord wuit @ " e 8 &)
(A) 99% (B) 80% (€©) 15% D) 1%
The dissolved oxygen concentration with the increase in
/® temmperature of water. 2 o
a(A) Decreases @
(B) Increases

(C) Remains same
(ID) Sometime increases and sometime decreases F=

STH &1 a9HEE "84 RS9 Hivie gfda sifediio= @ wEr
(A) st & (B) sa&i & .
(C) af) w=<fi & (D) N "@gdl &8 3R =i wedt 8

EJE-2015 /11_A ] 5 [ P.T.O.
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@ ' As per Indian standard (IS 10500: 2012) of drinking water specxﬁcation
concentration of iron in drinking water should not exceed:

Hidlm AFS (IS 10500:2012) 99 &1 ari—fafife & g, 99 a‘a g1l

H S & wigar . ¥ arfs & 8 =fav
og(A) 0.5 mg/L (B) 0.4 mg/L
(C) 0.3 mg/L - D) 02meA.
ESO s per National Ambient Air Quality standards, maximum permissible

e concentration of NO, (24 hr. average) in ambient air in residential area is

mvﬁaﬁwmwmaﬁwm@aMﬁNoﬁn

He @1 R afSros w8y 9ed 2
(A) 100 pg/m?® . (B) 80 pg/m*Au-
(C) 60pg/m? (D) 40ug/m?

]@) The breadth of rib in a T-beam should at least be equal to the ____ depth
of nb. - .
(A) one-half - s (B) one-third ‘

{(C) one-fourth (D) one-sixth

THE—E—ava ¥, Ry 35 s, mﬁmﬁaaﬁmﬁaﬁﬁrﬁaﬁq—
(A) TH— aET @) UL q=ERT

(C) vum— s (D) TH— BoT

32~ The tensile strcngth of concrete, expressed as the ratio of compressive

@strength:s 4
WWW%WW%&@WﬁWﬁF&TW%l

1 1 1 1 s
(A) 53 ®B) 33 © 1= *« @ 75
33@ In a pre-stressed concrete structure
(A) dead load of structure is reduced
(B) cracking of concrete is avoided @
(C) the cost of supporting structure and foundation is reduc

e (D) all of the above
TR S Pbic B G3=+=T o

(A) TREAT BT o9 9 B9 8 AT 2 . ' W
(B) HHIT # TR 3 F SH AT B : 0%
(C) WERT ¥91 9N E¥a11 ¢9 N9 &1 Jqod »H B o 2 »

(D) SUIET G

\/;@ T o is the stress m bar and T,, is the design bond stress thm@
o = . - T
Z

development length of a bar of diameter ¢ is given by:

MG o, v s A wfaaer 8 R T, -sfieeu Wie wfme & or
4 o o 20 o, <D S,

By “® I ©) 33 ®) 31,

A

bd bd

EJE-2015 / 1I_A ] 6 [ P.T.O.
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In the design of a two-way slab restramcd at a.ll edges torsnona.l remforcement

required is' > @
ot (A) 0.375 times the area of steel provided in shorter span

e(C) 0.75 times the area of steel provided at mid-span in the same direction

Ao
— &

(B) 0.375 times the area of steel provided at mid-span in n the same direction P

(D) None of the above 3

W FaRr & B U @ sl 4 da) we & fomsw #
Fgvad Uity uecT o |

(A) BR U ¥ yz@ ©Yd T SI%d BT 0.376 T

@) S fRenm # du—ve w yeF d @ SFGA BT 0375 PAT
(C) ¥ fewm & fra-dic R wgH EF & SIS BT 076 7

@) SUEd | HIE ABL

In double reinforced sections, total reinforcement percentage uld not ;‘ﬁ
exceed: Al L
T wefaa Q@i ¥ swm @ @ uder  uideradarn

%
e 81 BFt afew !
(A) 4 @) 6 © 8 @) 10

A reinforced concrete beam, supported on columns at ends, has a clear span

5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KN/m. The design shear force for the beam is

meﬁﬁﬁ‘dﬁrﬁﬁwﬁ?ﬁﬂﬁmﬁwmm
05m Bl SRA U¥ THo GHRTRT ¥R 100 KN/m &1 €99 &1 ‘-- @
FHa9 g B

(A) 250 KN (B) 200KN (C) 175 KN D) ISOKN

The term “Characteristic load” means that load which has a probability of not7_ \
being exceeded, during the life of structure is equal to: Q
TEOTRHD AR 9 dgd 99 UR & 8 foras el W uexger @ ofhae

FH I WR H T dga D Ea @afRkfRed) B ©

(A) 90% e(B) 95% (C) 99% @) 100%

The temsile strength of concrete in flexure as per 1S:456 is:
IS456 & IJIGUR IHHA @fET) A FWIT T g wmd sar 2 E‘ i

(A) 064/, B 07Jy/; (© 0'751’-;;* @ ) 09

For a slab spanning in two directions the ratio of span to the depth of slab
should not exceed

ﬁ%ﬂﬁ?ﬁ%ﬁaﬁw‘ﬁw.m\aﬂmﬁﬁﬁ)ﬁﬂ?ﬂéaﬂmﬁmé@
1§ sarer 98 89 oafag
(A) 10 B) 20 «(C) 35 (D) 50

EJE-Z015 /1_A ] 7 [ P.T.O.
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‘_/4'1 A masonry dam may fail due to- )

(A) tension in the masonry of the dam and its base

(B) overturning of the dam ;

(C) crushing of masonry at the base of the dam

(D) any one of the above ™

TH fa1d I fRvwa 8 wear &

(A) aiaaﬁﬁ‘vméqﬁmﬁma%mﬁ

(B) &M & gaied 9O

(C) ma%mqwﬁméa%mqgﬁﬁﬁ

D) SudET d O B N o
/2@ Tension bars in a cantilever beam must be enclosed in the support up to:

HIA) Ly + 10d 2(B) Ly/3 © 129 (D) d
Where, d . Effective depth of beam
Ly ' Development length

Wﬁﬁmmﬁmw@mﬁmﬁwmw:

(A) L +10d (B) Ly3 (C) 12¢ (D) d @}

St d : T ERiE (v @), L, : e e

43 For field rivets the maximum permissible stresses in rivets and bolts as
given in codes are reduced by:

ﬁ@ﬁﬁﬁ%%ﬁﬁéﬁ&ﬁﬁ?ﬁ&ﬁﬂmﬂ&ﬁﬂﬂﬁﬁﬁ i
F IR fden w9 frar o wwar & _

(A) 5% «(B) 10% ) 15% (D) 20%
— Rivets are generally specified by
“/% (A) Shape {(B) Diameter of head
(C) Overall Jength +(D) Shank diameter @
(A) 3P B) B & =g | :
(C) == srad & D) s & g A \qu/_ N
% The specific gravity of bitumen is ~3"<\"‘P @
fgss &1 smifys weg &
(A) 1.78 4B) 1.09 ©) 130 (D) 085

(A) bleeding (B) creeping (C) segregation (D) flooding
Wﬁamnﬁaﬁﬁeﬁm,mﬁ%waﬁaﬁﬁ%%
(A) Tregaor B) fagdor (C) geraHev (D) 3IITIEas

45/_ Separation of water, sand, cement from a freshly mixed concrete is called: N
& @

/ff Plaster of Paris is obtained by calcining: Ty
(A) Bauxite @) Gypsum 2(C) Kanker (D) Limestone Q\\;\
TR 36 R frad fAeamas 9§ ura ear &

(A) STaaTSE (B) foes ©) s (D) FAT-TeerR

EJE-2015 / 1I_A ] 8 [ P.TO.
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\/é The plinth area rate for construction of first and third floor of the building
() as per UPPWD has following felationship:

_ (A) Rate for first floor is. higher than rate for third ﬂ@
(B) Rate for first floor is lesser than rate for third floor

<.-€¢C) Both rates are same
(D) MNone of above
UPPWD%HTHWWWH%WE@WWWE%W%Q
FI aFhe &Y § B Hesr # &
(A) u=H HIGTE @1 g NEd i @ ' @ sfge 8 LS
(C) =Mt <X |a= &
(D) Tudgd H B TS

4 The order of booking dimensions in standard measurement bool(@
%. (A) Length, breadth, height (B) Breadth, length, height

(C) Height, breadth, length (D) Height, length, breadth

Hep Hwg gRoept W AW (S, dieg, Sarg soand) eve wr o e
BRT '

(A) <ErE Awerd, SaErg (B) e, urs, g

©) wad, DerE g D) Suaid, <ug, derE

dimensions of door is multiplied by:

\/50 For calculating the total quantity of paint on both sides of flush doors, ou:a
Yotel qeaiol ¥ Oe @ PN g @get Wl S Bt B T, qIaro

(A) 125 B 225 © 1 (D) 2 ®
31—~ The size of modular brick is
ATgER Sl @l PR BT B
(A) 10 x 10 x 9 ¢m *B) 19 x 9 x 9 cm
(C) 2235 x 10 x 85 cm D) 225 =% 8 x 9 cm @
ﬂ Unit of measurement of D.PC, is s
&) (&) cum «(B) Sqm (C) Meter (D) Kg (&3 @
DPC. & HU & IHE BN B _
(A) U9 fWlew (B) T MR (C) A (D) fEun
Theodolite measures: " :
(A) Horizontal angle only 4#*/
(B) Vertical angle only

» {C) Horizontal and vertical angles
(D) Honzontal distance
PrErse & 9T ST gddr 2
(A) daa Hfas T (B) I FHEAER zﬁm
(C) 8fds td SR P @) afas gRar

EJE-2015 / II_A } a [ PT.O.
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"The series of closed contours having higher contour values inwards represent
e (A) Flat plane (B) Valley «{(C) Hill (D) Lake
wﬁﬁmmﬁwwmﬁuﬁmwa& T3

RET BI o7 a8 I BREW

(A) w5 wae (B) Ot ©) vy (D) shas

Alidade is used in @
A#) (A) Chain surveying (B) Leveling

«(C) Plane table surveying (D) Compass smuveying@

VellSs T SaFT fpar wiar &
(A) SNIE wdeor #
B) <oEr
(©) < 2sa (R gew) afeor §
(D) W™ wdEur F
% The longest chain line passing through the centre of the survey area is

known as P
(A) Base linee (B) Tie line
(C) Check line (D) None of above ;
Wéa%mﬁg&ﬁa@wﬁaﬁaﬁa%ﬁmm%
(A) S®IR IEr (B) wurT YI@r

(C) <Ta aEr D) SR ¥ Hd 98

\_/8 The survey, in which the curvature of carth is considered, is ¢z ed._“
@ s (A) Geodetic surveying (B) Plane surveying
(C) Geographical surveying (D) Land surveying

g8 Tde, %‘ﬂﬁgeﬁ?a%:haﬂumm‘rmﬁam%:

(A) qusdia w|dayv; B) wHad [aerer
(©) ynfés wdeiop (D) 1—deror

.\@ For a given degree of compaction, graph between dry unit weight of soil and
water content in soil is called > b
(A) Compression graph «{B) Moisture- density graph /a4 Ny
(C) Void ratio graph (D) Porosity graph

ﬁmﬂﬂs?f?laﬁwmwgma%wmmawﬁmaﬁw
& 9 e S B ssawr &

(A =T aw ®B) g7 am
(C) R U o D) wgaT 9%
v - The effective size of a soil is
+(A) Dy, B) Dy ©) Dy ® Dg SN
\.@ \thchcof the fol(i!owing soils has the ﬁn;a;t grains? g
oarse san 1t =
EC)) Fine sand . gg Clay P%L @
fFrfaRea 3 wad 8w oo e 8 &
(A) =& s ®) fa=s :
(©) =& s (D) fFrEN gar

EJE-2015 7 Il_A } 10 [PTO.
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’i
A soil has 30% air vmds It has a poromty of 0.4 The air content of that sml
%

shall be:
tziﬁig?ﬂﬁfao%“a@w%ls‘HEﬁWOA ?lwaﬂ?ﬁrmw %
BT 3
(A) 075 - . (B) 0.12 ‘“97';(,, /\h' e & 4
A 133 a5 ®) 0.77 : : O
Due to rise in water table, the effective stress in soil: _ 7 o
) (A) Increases @ (B) Dectreases ‘(j'w @ ' 4
o> (C) Does not change (D) May increase or decrease 0\ =
Ty ot B gEr ¥ o wWN P de | waE) ufdee gt
. i (A) ¥edl ® B) wedl 2 : 3
i (C)Waﬁéwﬁuw%m}aam%@#rw%l'“

—“‘7/53/ If void ratio is 0.67, water content = 0.188 and sp. Gravity = 2 .68, the degree  \
@ of saturation of soil is:

h aﬁﬁaﬂmm@mo.mawzﬁrwo.wa%aﬁ?mw=
- 268 2, chigf:’ra%ﬁqﬁﬁa%ﬂﬁ?%: - B
A 35% (B) 40%
s MO 75%‘ (D) 60%
\@ Rota meter is used to measure _
® (A) Velocity of fluid (B) Kinetic energy of fluid ‘ e
(C) Viscosity of fluid DQ(D) Flow of fluid b S A e
Tp JAeHIEI | OHIOT ST & . ,\’E;
(A) € & "ams > a7 (B) =g & TR ot S :
(C) w3 & =g (D) ©g &1 UdE . ‘
‘@ Pressure energy of fluid can be increased by using: 5 L};’f
(A) Turbine < AB) Lump @
(C) Viscometer & (D) Hydraulic ram
Wﬁmmﬁaﬁ_ﬁgﬁﬁmmﬁlﬁwwwﬁﬁ%
(A) TRE1I89 (8) W :
(C) fRAmmar D) s W= @
ﬁ The ratio between inertia force and elastic force is caﬂedgb
&‘('A) Cauchy’s number o2 (B) Mach’s number y
{C) Weber number (D) Reynolds’s number \U;:% Q ]
Wedl 9 U9 YAy g9 @ AT BT ... BET B LS
(A) TRN E=H (B) #Aw HE= *
(C) dax Her D) Idfes desar b.}gxl
A i? As compared to roadways, maintenance cost of railways is
BAZ &) “More Y *(B) Less e CGY) =
(C)y Same (D) Neone of above ok
JEET BT e Yo gl @ IR dnTd 6w
(A =ifaw 2 B) 5 2 a1
(©) WA ® (D) SoREd § o T8 -w:'
EJE-2018 ' H_A ] Tt [ ET.O.'?:/




R SiPmfty / CIVIL ENGINEERING
The highest point on a carriage way is known as:

: (A) Camber#y ofB) Crown w0
(C) Super elevation (D) Gradient
IR TS B R UR SemRr g e &
(A) =R ) B) HrsA
(C) Fgux yaer= (D) A< :

' Number of fish bolts per fish plate joining rails are-
%a@@"wgs%mﬁ@ﬁﬁ@am%vmmmwaﬁv

e TPRT WIGST W | =
(A) 2 - B 4 @
6 D) 8

For a sewer line of 50 ¢m diameter, the spacing of manhole along straight
run would be approximately.

WSUmWEﬁW?W%%N,WE%W*@WﬁW
g3 8 anfag |

(A) 10 m +(B) 100 m (% A
> (C) 500 m (D) 1000 m “ ‘5{
a Cowl is provided at: 2 ‘,@ Y
@ (A) bottom portion of ventilating column ) & : L
+ (B) top portion of ventilating column 53 S
(C) top portion of manhole : '
- (D) at sewer joint
T(A) afedfEt wem @ PFrad o aw
~ (B) afFcSfew wrem @ SS9 BR ux
(©) #HF8I & SHYY B ux
(D) Wax vyl & o=l uw

72 To control vehicular pollution from exhaust of vehicles, following is fitted:
(A) Electrostatic precipitator * (B8) Catalytic converter %
(C) Bag filter (D) Cyclone separator
Wmﬁﬁﬁm$mm¢mﬁm(m)ﬁﬁﬂ

oRTIT ST & -
A ) ﬁanag?ralaa%ﬁa(zﬁa@?éﬁmmﬁ%d?)
- (B) SR afRacdes (@efifes s-adx)

(D) WEFTFT AReR (Tparad gufe=)

/":i As per Indian standard (IS 10500:20 12) of drinking water specification, pH
' 9 value should be in range of :

R\ (IS 10600:2012) ‘ﬁ#.ﬁﬂ‘ gH— fafefes a‘; pH T #HI=

2

=1 AT F 8 o=fEe
(A) 65-80 -(B) 6585
(C) 6.0-8.5 (D) 7.0

EJE-2015 / 1I_A ] 12 [ P.T.O.
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@ Sewerage systém starts from ~
a agj‘A) House sewers {(B) lateral sewers
(C) Branch sewers oZ (D) main Sewers @
Hars uonelr e BRiT &
(A) s Had | - B) urrd A&sT |
(C) wrEr AEsy | (D) &3 |iaxY 9§

. 7
\_}5/ The effective length of a steel column, effectively held in position and
@ restrained against rotation at both ends is:
(A) 0.80L | B) 10L

BC) 0.65L D) 05L @
Where L: length of column ~£

T gedid W S At weg, R swest Rl § wan wan €1 iR gEae
T AR @ o @ PRItE fear T 8

(A) 080 L (B) 10L
(C) 065 L (b o05L
WEl L xH B darg ¥ o
76 __ The member of roof truss which supports the purlins is called as: @
(A) Sag rod (B) Main strut ;
~(C) Principal Rafter (D) Principal Tie
od @l B a8 B 1 gfel=w o1 weRy 9 @ AT
(A) FIoREN B3 B) WIE D
(C) Y™ eIRe (D) T EHIIETT (@)
7  As per Indian standard sptcrttca'twns concrete shouid be cured under a ">
‘-”’éD hum?dny of @
ﬁmﬁﬁa’?ﬁmﬂ“&jﬂﬂ mﬁfas‘fﬁmanéﬂ'r(ﬂv‘h)ﬁmﬁ%
(A) 10% (B) 50%
(C) 75% =(D) 90%
78 In a singly reinforced beam, if the permissible stress in concrete reach
earlier than the permissible stress in steel, the beam section is called: c,‘J
(A) Under reinforced section @(B) Over reinforced section .
(C) Balanced section (D) Economic section 9
Wwémmﬁﬁmﬁwmwmwg

vieer §¥ ggel Ugd WAl & df 96 ds uR®eE (Be) @ HEd
(A) A ufdss aR=og ®) afr wfaewe aR=es
(C) wgferr afeda (D) foaerh giRk=ss

For the deflection of simply supported beam of 8 m span to be wx'thm
peérmissible limits, the ratio of its span to effective depth should not excee

aﬁaﬁqﬁ%%g@aﬁawmﬁmwm%m
& o gl <1 ward mﬁwm@m%@ﬁﬁtwr

U DB @/
(A) 7 e(B) 20
(©) 26 () 8 o

EJE-2015 / lI_A ] ' 13 [ PET.O.
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Shrinkage in concrete slab (A% .
{A) Causes sheer cracks s (B) Causes tenSion cracks ¢ :\“\
(C) Causes compression cracks (D) Does not cause any t:.ra.ckmg:SK
 wHle W ¥ RigsT @ oo gar &
© (A) wHUAT TR B) T TR
(C) HMNeT =R D) FHIF TN A8
81 In order to avoid sliding of masonry dam, the force of friction between the
dam and soil should be at least ___ the total water pressure per mefer
(A) Equa.l to -A;;B) 1.5 times ; @ /
{C) Double D) 2.5 times
ﬁmﬁaﬁaﬁmﬁ?ﬂﬁmﬁaﬁ%m,wﬁﬁmﬁzﬁgﬂhw
F W BT S AfBT vH MNex N wget oA o e B
(A) 9Ev B) 15 77T
. (©) g D) 256 T
B2 The diameter of longitudinal reinforcement bars of a RCC cohxmn‘\should
never be less than:
AR wAH A ygeed @2 BT W oW W L. By a8t B
=iy | -' Q)
(A) 6 mm : (B) 8 mm @
{€) 10 mm e(D) 12 mm
A reinforced cement concrete beam can have maximum area of tension
€8 reinforcement as
(A) 0.06bD (B) 0.02bD @ e
(C) 005D - »1D) 0.04bD @
Where D = overall depth of beam i

b = Breadth of beam )
H udfer dfe F9ic ok A 9T gReT o AT S eer ar

Hpar a:
(A) 0.06bD (B) 002 bD
(C) 0.05 bD (D) 0.04 bD

STEl D = &)9 & @A MBS, b = uvd I e

@hc minimum size of one side or diameter of column in reinforced cement
concrete structure to make it earthquake resistant should not be less than: C X
'
s

m%mﬁ@mmﬁmméwﬁmzﬁww

I T T W HH adl e mfgE
(A) 200 mm « {B) 250 mm
{C) 300 mm (D) 350 mm

EJE-Z018 / H_A ] T4 [PT.O.
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@ The spacing between two successive stirrups (hoops) in reinforced cement \4

".9 concrete beam shall not be less than: (\
8

gafda Ofe o@ie erRA # 7 TR Wa ol Rewdl) @ da
............. A HH A B =fad:

9
(A) 100 mm A - Q‘((B) 125 mm S ,Lo’f“‘ < .‘”:_;6\
(C) 150 mm : 175 mm NV

é- The concentration of organic sohds in water to be used in remforce.d cernent
concrete contraction should not be more than:

Wﬁﬁ%mmﬁﬁw&mmﬁmmﬁﬁaﬂéﬁmw

(A) 50 mg/L (B) 100 mg/L -
(C) 150 mg/Lg .e (D) 200 mg/L

be

L/S? According to Whitney’s theory, u!tin_-l_a_t.c : strain of cos
' EeTa @ RIgIgaR, $mic 1 e (avH) o " o Ser 8-
o () 0.03% ®) 0.1% _y
€y 03% A~ | P 1%
As per IS 456-2000, formula for calculation modular ratio is- -
IS 456—2000 B IGAR HIUPH AT A HRA BT G B— @
280 2800 ?

y A 'S'Gcbc ®) @})
36{.‘;}(.‘ 2 80 —
© Zs0 © o,

89 As per IS 456-2000 thickness of flat slab should not be less than
IS 456—2000 & IPUR, TG e ¥ Al Fraifea @ a9 48 &

=fBg— -~
(A) 15 cm Qe@B) 125 cm @
(€C) 10 cm (D) 85 cm

@’ In design of cinema hall width of Tread is taken as- m‘&”";@
D&(A) 25 to 30 cm & ®) 30to 50 cm 9.5°
’ (C) 50 to 75 cm (D) 90 to 110 cm ﬂ'
R gl aifeeas ® ue @ A W@ ord & '

(A) 25 ¥ 30 99 (B) 20 | 50 A
(C) 50 & 75 I @) 90 I 110 TN

EJE-2015 / It_A } 15 [PT.O
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Due to end of circulation of shape or design of property is known as

AA) Uncirculation (B) Distress value @
(C) Salvage value (D) Scrap value
fpt wrafta & anafa srmar Roes anfd @ @R goa wws 81 SiET
('A)' IYFAT (B) HPhT o (Distress value) ‘
(C) HeE= T D) #H&ar T

()

9 In Building construction, for one time surcharge for Electricity and water is
added for the cost of % total cost of building.

ﬂaaﬁqﬁwﬁﬁgaaqﬁ?akwﬁw%%mﬂaﬂmwm
. % SreT wrar ¥

(A) 12% (B) 10%
«©) 8% b o (D) 5%
93  In masonry works, while doing ‘Rate Analysis’; water-surcharge is taken as
@ o freSwer aRY wng-faead w4 aeht  ownw L % HM. I

Hed & -~ ot
(A) 10% (B) 5% o iy
(© 3% e (D) 15% N\

94  If the fore bearing of a line AB is 35° and that of line BC 15°, then the
“/@ mchided angle between the lines is
uﬁwaﬁAameaﬁ%aﬁvaCmm
16°, 1 AEAT & We" BT NERE HIoT BN
(A) 20° @) 50° D 2,5 15

_C) 160°% - D) 230°

D As applied’ to staff readings the correction for curvature and refraction are
respectively —
(A) + and - @) —and -5 (&) @
(C) + and + (D) — and — -
s B
(A) + 3w — @) — IR + o
(C) + 3R + D) — 3R —
f The suitable contour interval for a map with scale 1:10.000 is P
FO frer w9 wx 1110000 B VNN uw e @T RIS 29T QQ’\
e (A) 2m .ba B) 5m @.% Y,
(C) 10m (D) 20m i
’ég/' Least count of ‘Prismatic compass’ is _ o~
fos9 wwr @1 arcuaniss  aeET ag?m HW s 10N B %
(A 1° =K
O 30 (D) prd @ Y

EJE-2016 / II_A ] 16 [ PT.O.
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98 Minimum Angle between axis of weir and canal head regulator is

fAuR g P Faas & ey & g PAada doT T-.’Fnﬂﬁt‘rl
(A) o° Am) 90° Qs.'
(C) o60° _ y (D) 120°
@ A canal constructed normal 10 contour lines of area is called
(A) Contour - canal A (B) Watershed- canal @
(C) Side slope canall) - (D) Single Bank canal @
(A) = A8% B) eI A8
(C) =R & #A8Y (D) TFHel dc 8%
1 Hydro science (Hydrology) cycle is denoted by equation
: ol RASE g% ... WGIN gRT SwlEr Srdr %1 (’,Y
+ (A) P=E+R g (B) P= E-R @/
(C) P=E.R (D) P=E/R
16 The height of Tsunami’s wave depends upon
< {A) Monography {B) Seismography
(C) ILocal Topographﬂ/r (D) None of above
FART T B SO R PR el 2
(A) #TFITHY o(B) fEuirmmm
(C) WFQIH STOTaTS (D) T A ®E FE]
- Tower is made :
(A) For floating bridges. (B) For swing bridges. 4 -
(C) For archery girder bridges (D) For dot bridges. ;
TEAR ... §FTEA TR B
(A) A gat B e (B) sen goil & faig
(©) o9 =R gy&a & g (D) S yar @& faue
183 Penetration test on bitu is used for determining its: é Y s
(&Y . (A) Grade /@ (B) Viscosity '
(€C) Ducitility (D) Temperature susceptibility
fagas o= oA gdavr Far sar 8, gEad AEifea Rees @EiRa)
B BG
(A) = (affewor) (B) wgr=ar =
(€) a=gar (D) <aruspHE—gaifedar 3 95
184 Slope of village roads should be usually less than @ 9-$ 5
°@ it # wedt ¥ urm T ... H HH BT B -
(A) 1in 12 & (B) 1 in 10 . o
(C) 1in 4 (D) 1in3 b
e as O T NS
EJE-201S /1_A ] el 17 é .8 02/(’ [PTO. —
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e SShfwaftr / CIVIL ENGINEERING
}5/The Thickness of ‘Domer’ laid oads)- layer in ‘Bitumen’ Roads is-

(A) S to 10 cm ) 21to3 cm >

(C) 1to2cm (D) 05to 1.0cm
Ol wewt % orR RoE o' @ MerE . e #

(A) 5 | 10 4O @) 2 I 3 §f

(C) 1 | 2 afm i @) o5 |A 10 (N

/166 One degree of curve is equivalent to
* @ U&H 39 HT 5% &XEx ERiT 8

1600 .@ 1700
A) R @) R
1750 1800 ’
Where R is radius of curve in meter

Siefd: R Wew d am @5 Broar 2

Bottom most layer of Pavement is known as-
(A) Wearing cﬁurse (B) Base course @ N
(C) Sub- base course « (D) Sub grade ‘
UIgorErt &1 HIS sEraeh (Ud) wel oEr B
A) daRn e+ B) IR R
(©) TU-IMER B y (D) IS
The specific gravity of Sewage is- @
&%) (A) Much greater than 1 (B) Slightly less than 1 @
(C) Equal to 1 e« (D) Slightly greater than 1
HAaw 1 fafkre Tocg Sar &
A) 1 9§ Tga e ®) 1 ST o
©) 1 & s_ER M 1 F oger ot '
102 Standard B.O.D. is measured at i
@ (A) 20°C - 1 day (B) 25°C - 3 day @ Q
e(C) 20°C - 5 day @) 30°C — 5 day -
A §1 3 &) B g Bk 22— )
(A) 20°C — &5 (B) 25°C —3 fe=
(C) 20°C —s fa= D) 30°C -5 fa=
\)(ﬁl In sewer line, at 12 o’clock of day, flow is approximately of
/@ average glow.
“» (A) Half | ®) Equal @
(C) Two - time (D) Three - times
WA T ¥ R & 12 I B TP gam e wATE @
BT 2
(A) 3T B) I
(©) < D) o= g

EJE-2015/1_A ] _ 18 [ P.T.O.
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f1 Moment of Inertia of circular area having diameter ‘D’ about the axis is
@ passing through the center of gravity.

frdr D WE & JOTHR SIS BT PO Bra § et gl e U”

sredr i - @
x - D* @ - D4 X
A) =y (B) TS X
&
r- D* - : - D4 o
o (O =2 D) 5
The group of forces, whose resultant is Zero, is called
'(A) Equilibrium force (B) Coplanar force ( 7%
(3 (C) Collinear force (D) Concurrent, force —
9 gall & Je Hr IR 9 [ 8 98 ... HEAR B
(A) EFgEeRT 9o (B) EHHOST qF
(C) ERE (D) WIAFN FA

3 Two equal and opposite direction forces ‘f° acting, and then value resuiting

force will be-
@ ﬁwaw@ﬁmﬁmmﬁaﬁw(ﬂﬁqﬁmﬁwwm

(A) 1.414 f @) 2f O ‘X ‘

«(C) Zero /YA D) 0707 f

The moisture content in a well seasoned timber is-

(A) Zero B) 5to 10% ;
) +(C) 1010 12% (D) 15 to 25% @
AT UBR GdHls T b H wieliw @) JET 8 8-

(A) T B) 5 A 10%
©) 10 I 12% (D) 16 | 25%
\11'5 As per IS 269- 1975 initial setting time of ordinary cement is~
(A) 15 minute . e (B) 30 minute @ b'}
{C) 60 minute (D) 75 minute -
IS 269—1976 B IJJAR ARROT e & uwrfPas swase err &
(A) 15 f3=e B) 30 &=
(C) eo fA=T (D) 75 fFe
When the plastic limit of a soil is greater than qmd limit, then the

ok

C] plasticity index-is reported as:
(A) Negative .- (B) Zm’o
(C) Non — Plastic (NP)

ngaﬁwm.waﬁmﬁaﬁlﬁﬁr?ﬁww

BT &
(A) ZRONHD - B) T
(©) rgeea | (D) T

EJE-2015 / 1I_A ] 19 : [ P.T.O.
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The minimum depth of foundation in clayey soils is ez
(A) 05 m A\~ ‘ B) 0.7m \m )
_#(@©) 09 m D) 1.20m Q_/
118 Putty is made up of
"'ﬂ (A) "White Icad and turpentine
; \},B) Powdered chalk and raw linseed oil
(C) Red lead and linseed oil _ =,
(D) Zinc oxide and boiled linseed oil

Yot a5 o &—

(A) HHg WNEl TF aRA" ST ad

B) =i wfear vd @ arad BT dF 9
(Cr <l O Ud 3/l o7 o 9

(D) e siTss vd Sgen Iaw &1 9 Q

119  The sloped roof which is sloped in four sides is calied as:.
@ (A) Shed roof : (B) Gable roof ﬁ
« (C) Hip roof - (D) Mansard roof ¢4

g8 Q@Y B Wil o9RT 3R BRIV B ....... "Bl W97 &
(AY S (shed) o

(B) =i wa (gable roof)

(C)" 9EBTR I@1 FHIRT BT (Hip roof)

() E&1d Bd (Mansard roof)

The slump test for finding out the workability in concrete the maximum size

of aguregate should not exceed. @

«(A) More than 20 mm #B) More than 38 mm
(C) More than 40 mm %(’ (D) More than 53 mum

Pplc H gerdm & g oeTor # et @1 siffeas wg T8t
BT wIfRg—

(A) 20 mm 9§ 31Ss® (B) 38 mm 1 3 -
(C) 40 mm | a31f¥rs (D) 53 mm I sifees

21 The most familiar form of Bernoulli’s equation is-

s¥vitenl wWftexer &1 wedy I yafaag sa 2 7
\D\
N

f; Z I"I2 P2 zZ ;’22
—— 7z —_— = g —
B T TRl iy Tea ¥y
d,
(B) -§+g-dz+v-dv=0 -

P P
AC) [W + £ A Zg} any section = constant head / & e v = Rer fAnd

(D) None of these / 999 4 +1F T8

EJE-2016 / lI_A ] 20 [P.T.O.
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A rectangular beam of length ‘L’ supported at its two ends carries a central
point load “W’. The maximum deflection occurred
(A) at the ends

(B) at L/3 from both ends G‘B
e (C) at the center @ | ) /-

(D) None of above

UHh ATAAIHR eRE TRTg L ][ R ov anaffaa 8 afwa Rg wr
'Wogsq e 8| wfSan fagy s
(A) Bt ue

(B) @ f&i & L/3 @ g9 w
(C) &= #H

(D) SuAFRT A § B TG

If, the diameter of rivet is 25 mm or less; diameter of rivet hole will be

than the diameter rivet. Y
\/[A) more than 1.5 mm (B) less than 1.5 mm

(C) more than 2.0 mm (D) Equal ;

Rae 7 ama 25 il or 389 &9 8N w® Rde e & oo Rye
@ e W ... BOEI]

(A) 15 ffr & it M) 15 Fh & &8

(C) 20 A A afdw D) A

In general the depth of Plate girder is kept as : of span.
(A) 1/51t0 1/8 (B) 1/8 to 1/10 , ¢

(C) 1/10 to 1112 20~ D) 1/12 to 1/16 @
WHETGT, ©@¢ TEY &7 RIS AT $ag <@l ol 8 9ic &) oi"rs &7

;?
\
o e

(A) 1/6 & 1/8 B) 1/8 & 1/10
© 1/10 A 1/12 D 1/12 A 1/16

Tensile strength of mild steel is-T©

(A) 1400 to 1800 kg/cm?

(B) 1800 to 2500 kg/cm? A1~
e(C) 4200 to 5400 kg/cm?

(D) 5500 to 5700 kg/cm?2

Ty e @ gHd amed Bl 2

(A) 1400 1800 farom /dd2

(B) 1800 2500 f&Hur /w2

(C) 4200 ¥ sa00 fHuT /a2

(D) 6500 s700 f&ar /ar?

o/

4 4 4 4

EJE-2015 / 1A ] 21 . [ P.T.O.
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\ym adiabatic process in a thermodynamic system is one in which there is?

(A) Limited heat transfer to or from the system through the boundary.
B) No heat transfer to or from the system through the boundary.
(C) No internal energy change. .
(D) No energy transfer to or from the system through the boundary.
Uch SHFIOS dF & GG UbA H aar sar &2
(A) dRE™T gR1 o3 # A1 93 9 Offa o =T
(B) R gRT & # Or O |/ ST BT PIS  FETIRYT HAST
(€C) T A g araRkes Hont alRada a8
@) alRAAT 57 GFH H Al dA 8\ Holl BT iy RITHIINUT A8

2 The difference between the actual temperature of superheated steam and
saturation temperature corresponding to its pressure is known as
(A) Degree of saturation (B) Degree of superheat
{C) Dryness fraction {D) None of these
I g 99 & IRAOfdes A9EE T SEHS q[@ D IFeT HIW A9
BT IR HEART &

(A) wEgwar @ & (B) guBlc &1 W
(C) eHaaier (D) 799 ¥ HE 5
3 The type of coupling used to join two shafts whose axes are neither in same
straight line nor parallel but intersect is
(A) Flexible coupling « (B) Universal coupling
(€) Chain coupling (D) Oldham’s coupling
Hufer], et SUdlT @1 9ge BT uiled o fsar oar & o &% 9 ar
el | A & 9 A1 v TR P wH dfce s 311 o gER @l
wea BF
(A) voifrgsa wHufei B) IHaHa wufea
(C) == ufer (D) 3cges Hufei
4 Which of the following is extensive property?
. (A) Pressure (B) Temperature
¢ (C) Volume {D) Density
1 & fRga Rdear &9 I & 2
(A) =" (B) AGHH
(C) 3mFaa D) =TT

- For specifying the state of superheated vapour, one needs:
(A) Pressure
(B) Temperature
(C) Pressure as well as temperature
(D) Specific volume

sfage sy & 9ol faawer & fag feaast wova &t & ?
(A) =8 B) <
(C) T=w IR aa S FHY (D) faft¥rse anma=a

EJE-2015 /1L_LA ] 22 [ P.T.O.




i Sttt / MECHANICAL ENGINEERING

6 In a gear drive, module is equal to
(A) 1/diametral pitch (B) 1/circular pitch
(C) Circular pitch/ (D) Diametral pitch/7
. waem #, dAfgge o7 "9 8T 3
A /@A A= ®) 1/gaa g
© i a/n ®») =T =/ =n

7 For which of the following substances, the internal energy and enthalpy are
the functions of temperature only?
(A) Any gas (B) Perfect gas
(C) Water (D) Saturated steam
fr=afaRaa § 9§ fp genil @ e naRe oo ik ol $as amuq™
& Bo B B ? '

(A) ®1F N F8Y @) e A9
© < D) ¥EHJ< HY

8 According to kinetic theory of gases, the absolute zero temperature is attained
when- _

(A) Volume of gas is zero

(B) Pressure of gas is zero

(C) Kinetic energy of molecules of gas is zero
(D) Mass of gas is zero

|l @ afow g & FHER R\ P TuEE BT 8, Sld—
(A) T FT I T B

@) T &1 Q@ YA B

(C) 9 B IRl 1 TRl FoT A B

D) T &1 F@IAE T 8

¢

9 For simple Harmonic Motion of a cam follower, a cosine curve represents
(A) Displacement diagram (B) Velocity diagram
(C) Acceleration diagram (D) All the above
RS Eda fd HRa gY HA widaw #H, Hiftm e gaffa wxar 8
(A) g e o) B) AT P IRG BT
(C) @O IRE BT D) T J W BT

10  First law of thermodynamics furnishes the relationship between
(A) Various thermodynamic processes
(B) Heat and Work
(C) Various properties of the system
(D) Heat, work and properties of the system
SIS BT gser FroH wEwy SuesE BT 8-
(A) faf= Sepifas umHHl & 9=
(B) S IR HE @& €=
(C) = @ fafr=r JorEl & 99
(D) S, $R IR A D JoEHE] D 4"

EJE-2015 / 1_A ] 23 [P.T.O.
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T it / MECHANICAL ENGINEERING
Change in enthalpy of a system is equal to heat transfer under following
condition
(A) At constant temperature (B) At constant pressure
(C) At constant volume (D) None of these
fret e & o & aRad= s ofRfert 3§ gf oot s
& FIELT BT
(A) Rerk amaaEs v (B) fRew <19 uw
(C) RerR amaags uw (D) s789 | HBrE 940

Spring stiffhess is -

(A) Ratio of coil diameter to wire diameter
(B) Load required to produce unit deflection
(C) s ability to absorb shock

(D) Tts capability of storing energy

fper R afY g=<dar 8 &

(A) TS TAT AR P AT BT JEUTH
(B) Uaias fqwnua & 3 smaegs «iK
(C) 98 ggaT "8 &) aQwaay

(D) TGt Usfya s 351 eHar

The latent heat of vaporization of a fluid at 190K is 2560 Kl/kg What is
the change of entropy associated with the evaporation?

100 BfT U UH TF B g YW ST 2560 KI/Kg &1 ansgd a wraag
T aRads o= & 2 '

(A) 6.86 KI/Kg-k B) 256 ~ 103 KI/Kg-k
(C) 256 KVKg-k (D) -256 KJ/Kg-k

In an isothermal process, the internal energy

(A) Always decreases (B) Always increases .
(C) Increases or decreases (D) Remains constant
[HATGY UFH FH, I=<ifIps FHor—

(A) &m™ e oudi 8 B) =ATT FT@ wid &
(C) q=T [T gt 28 (D) 3gRadia w=h &
A screw is specified by

(A) Major dia x pitch (B) Minor dia x pitch
(C) Major dia % length (D) Mean dia x pitch
Uh 9F &1 I ugffg @5 el &)

(A) df T x = (B) &g &= x fug
(C) =1¥d =N x e ars D) ==m o™ x U=
Change in entropy for reversible adiabatic process is

{(A) Positive (B) Negative

(C) Zero (D) Positive or zero
a%ﬁuwﬁwuﬁmzﬁﬁﬁﬂ@ﬁfﬁaﬂqsﬁm?—
(A) =FIcHSP (B) ZHUTRKSS

(©) = (D) =TS A1 R
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17 Kelvin -~ Plank statement is applicable to

(A) Heat Pump (B) Refrigerator

(C) Heat Engine (D) None of these
HicaT @rm TE e B gw i E|

(A} ST g (B) ImIsRER

(C) ST g9 (D) s | PIE T

18 The ratio of lateral strain to the linear strain within elastic limit is known as
(A) Young’s modulus
(B) Bulk modulus
(C) Modulus of rigidity
(D) Poission ratio

uwd Aty dani@afa@?ra%wgmﬁwwmlﬁasgm%
(A) T ATEgETH
(B) o Hrggaw
(C) gerd gaam
(D) 9Erd 3y
19 When wet steam undergoes adiabatic expansion then
(A) its dryness fraction increases
(B} Its dryness fraction decreases
(C) 1ts dryness fraction increase or decrease
(D) s dryness fraction remains constant
T HTE O AT BETH UMR BT 8 v
(A) gsbAls qgar &
(B) I=pamN Uedl 8
(C) THSDT PEHAW BT N4qT 4@ ddbdar &
(D) SEHT IYLCHA™ FAF I85ar &

o
20 Relation ds= -.}g. holds good in case of :

(A) Reversible processes only
(B) Irreversible processes only
(C) Does not depend on the reversibility or irreversibility
(D) Alt reat processes
dQ - ;
waE ds= —=, frw Ruafy 4 w&@ g & 2
(A) Tsa I wspy
(B) Tad 3FgShaoNa umhH
(C) Swpavizrar o srgoepadiiaar v iR =8 &
(D) ¥ arafas gmH
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In V belt drives, belt touches

(A) At bottom B)
(C) Both at bottom and side D)
V- THR BT UTeT e Hen =
(A) Tas e gas I B)
(©) -9 97 ST &5 Hos 9 (D)

Critical pressure for steam is

Wiy @ g =it @ feasr &
(A) 184 bar B)
(C) 252 bar D)
Change of entropy depends on

(A) Change in volume B)
(C) Transfer of heat (D)

Toer Tl &1 gfRads iR swar &
(A) 3 & gRads o= @)
(C) TS & WIEIAROT U o)

At sides only
Could touches any where

TTA B PBT g% HAE

Hal A

.g._

163 bar
221 bar

Change in specific heat
Change in mass

fANle T & uRads ux

T4 @ ufRads uw

In order to balance the reciprocating masses

(A) Primary and secondary forces must be balanced
(B) Primary couple must be balanced

(C) Secondary couple must be balanced

(D) All of above

IR SHA BT Sgfera s @ g
(A) v Ton Sevsy 9o Egferr 89 =fav

B) urafis g™ wgfera =0 =ifac

(©) Wpvsd gw wdfera BT a2y

(D) FT7H | i

For specifying the state of wet vapour,

(A) Pressure
(B) Temperature
(C) Pressure, Temperature

one needs

(D) Pressure, Temperature and one meore intensive property

AL gy B ol favor @ g =
(A) T

3B) <9
(C) T Q¥ am

P TTed s8I B2

(D) <9, a9 AT ¢H I T84 RAewar
Function of carburetor is to supply the following

(A) Only petrol (B)
(C) Petrol and diesel mixture (D)
PBIERSY BT FE = ga@m wEm 8

A) B g B) T TAUT A=V BT R[Eor
(©) ugre o Ao BT Asor (D) 9y 9w Sore & AT

EJE-2015 / II_A ] 26
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Governor sensitivity is the ratio of
(A) Range of speed to the minimum speed
(B) Maximum speed to minimum speed

{C) Mean speed range of speed
(D) Governor lift to the range of speed

Ta-R T HAEENEar Iaa Sikdil 2
(A) a1 &7 gflRadss =1 9= 997 &7 JeEgHE
®B) JRsas a7 g JPAada T
(C) A7 T A=A aAGT FT 1 alRac=s Ser
(D) #FdR & f¥rge gom a7 & 9Rads @

For air standard Otto cycle

(A) Compression ratio is more than expansion ratio
(B) Expansion ratio is more than compression ratio
(C) Compression ratio is equal to expansion ratio
(D) Cannot be compared

qrg JAEE IMST ass o

(A) ¥HIIsSH IgUld, UHR U | e Biar #
(B) WHEOSH IFURT, WIR JG99RT 9 A BRT &
(C) 9¥9IST IQUR, Y9R JqUid § §HHFE 811 8
(D) g1 81 BN

‘What is true for heat engines?

(A) Efficiency of all engines is same

(B) Efficiency of all reversible engines is same

(C) Efficiency of all reversible engines working between same temperature
limits is same

(D) Efficiency of all engines working between same temperature limits is

same

FHAT ToEAT @ fay T o\ 8?

(A) I =511 & w=5ar 99 B &

(B) w0 ufdada SorHt @8 <smar waE 8t &

(C) HaE e ERIT & g SR ufaadia s<a=r 3 <@ @ar | e
B &

@) HE dOHE 9ERi @ = B 3o B G5O 99 e BT B

The stress in disc type flywheel as compared to rim type flywheel is

(A) Equal B) Less

(C) Greater - ' (D) None of above is true

fSxp &5 v o =6 A R B arerR & uiads 9% @ hEe giaed
wT AFT :

(A) sER 8rar & @) H1 8xm B

(C) af¥p BT & ®) 949 4 »F Gl T8 B

EJE-2015 /IL_A } 27 [PTO.
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Which of the following is not an inmternal combustion engine?
(A) 2 — Stroke petrol engine (B) 4 — Stroke petrol engine

(C) Steam engine (D) Diesel engine
FreafafRas @ 9 ur siadss so=7 &7 & ?

(A) 2--Ep 9T g9 B) 4 Y FHTH
(C) =T g5+ ®») IJroia 59T

Objective of Supercharging process is:-

(A) Providing forced cooling air

(B) Supplying the intake of an engine with air at a density greater than the
density of the surrounding atmosphere

(C) Supplying compressed air to remove combustion product fully

(D) Injecting excess fuel for raising more load

APAIUT UHH HT Igavd & —

(A) uoifas a1 a1y Suet=r wHET

B) A o & IauUd BT SH T G Gig BT WEARIT BT SN
qR¥ael sIgHse @ uacy 9 S B

(C) =& SEl o g8 aww Fees & g S0isa arg o7 wawor sy

(D) 3 ¥R Sem & e aifSe sSu=1 &1 siaerwr owar

The property of material by virtue of which it can be beaten or rolled into
plates is called

(A) Malleability (B) Ductility

(C) Plasticity (D) Elasticity

IRl BT g8 Tor O S dlceR ear Jsraw gaoh aray ¥ waem o
Hbar X

(A) &EeTTat M) Ta=gdar

(©) et @) gETRRIET

The process of removing the burnt gases from the combustion chamber of
the engine cylinder using fresh charge is called

(A) Supercharging (B) Scavenging

{C) Knocking (D) Detonation

T TSl BT gANT FRS 3O D TS B g'a et ¥ e 8F dar
BT B B ulhar daendy #—

(A) arferweT (B) 3gHTSIH

(C) 3IgEFIEA D) fEREpEH

The fluid in the petrol engine (S.I) during compression contain
(A) Fuel only (B) Fuel or Air

(C) Air oaly . (D) Mixture of air and fuel
IS g9 4 WieT @ @R R ¥ @y BT £ ?

(A) Tas =9 B) T e Wy

(C) @das ayg (D) o Tur gy Br Bsyor
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A beam of length 1, having uniform load of W kg per unit length, is supported
freely at the end. The bending moment at mid spam will be
TH =R Rrwet onwrd / & o e oR ufr udmie aErE ov W kg BT
R B, gaa R Rt @ v 8 e [{sg av afssyr @i @1 A S

Wi wir?
A - ®B) >
wi? wi?
©) D) -
In diesel engine, the suction contains — .
(A) Fuel only (B) Air only
() Air or Fuel (D) Mixture of air and Fuel
Aoida gur H# feEer geu sar -
(A) Fadr FEH (B) ®ad qiy
(C) arg RMar goi D) @y aA1 gu64 @1 B

The efficiency of Camot engine depends on --
{(A) Type of engine
(B) Working fluid
{(C) Temperature of source and sink
(D) Type of fuel used
g BT daar e ey #-
(A) THA & &N X
(B) @*ddprd garl ww
(C) wERT 3 si¥ma $ aEEET O9”
(D) UgaT sE49 B gHN O

In a design of key, shaft, and pulley

(A) All these are designed for the same strength
(B) Kcy is made weaker

(C) Pulley is made weaker

(D) Shaft is made weaker

e, @Ol gur el @& aiffeegs #

(A) WEr 1 e T R ST g

(B) @50 Y wrged W Tl AT ¥

(C) Yot 35 "md oy & oy &)

(D) wnge BT wwed oy @ S F

In diesel engines, the duration between the time of injection and ignition, is
known as:

(A) Burning veriod (B) Ignition period

(C) Delay period (D) Pre - ignition penod

SIA@ g B T W 3R WREE @R @ A" @yt &1 A aiE
wiar & °

(A) BOHAT it (B) wSael PId

(C) fasra o (D) gId—wSgHqd &BTA
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Fusible plug for a steam boiler is an alloy consisting of bismuth, lead and
(A) Copper (B) Tin
(C) Zinc (D) Aluminium
Y & AR BT W18 6T UF [Bseng o7 997 217 & |, forad fawer,
wrer sk P 8 aar e e & 2
(A) diar ®B) fe=
(C) i @) vgfEtras

100 KW power is to be transmitted by each of two separate shaft A is
turning at 250 rpm and B at 300 rpm Which shaft must have greater dia?
(A) A (B) B

(C) Both have same dia (D) Unpredictable

BN HATIEAT AIFES FRT 100KW ofde wanlRa @ oift & snge A 250
rpm AT IMYT B 300 rpm H YH 8T | P9 wve &1 O it sFr—
(A) A B) B

(©) <FT 99 FH =ame & B (D) S A8 oRTET o wadr

1 Ton of refrigeration is equivalent to —

1 1 wiiaa s ¥ fus amEe &
(A) 3.5 KW (B) 1 KW
(C) 2.5 KW (D) 5 KW

What salts of calcium and magnesium cause temporary hardness of boiler
feed water?

(A) Sulphites (B) Nitrates

(C) Bicarbonates (D) Chlorides
Wmﬁm%%ﬁwﬁaﬁmwmmﬁm
HORIT Bt & 7

(A) HTFIES B) IR

(C) SEFHEFe (D) TERISS

If the Shear force is zero along a section the bending moment at that section
will be

(A) Minimum (B) Maximum

(C) Zero (D) Either maximum or minimum
WMWWWWW'W@ﬁﬁWWWWW
HF ERF

(A) =aaH (B) sfEyHaH

©) T3 (D) 3fepan a1 ~gAaH
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In impulse turbine, pressure on the two side of the moving blades —

(A) Decreases (B} Increases

(C) Remains same (D) May decrease or remain constant
M TIEIST H 9 Bl & QM7 gedl U4k gE—

(A) &HH B SR &8 (B) &g oIar #

(C) T=IEa Isdr & D) HF 8 KT 8 ar ReR w=ar 2

A bell Coleman cycle is
(A) Reversed Atkinson cycle (B) Reversed Joule cycle

(C) Reversed Sterling cycle (D) Reversed Carnot cycle
I DIATT °GH B

(A) =gobd V=9 =W (B) YobH Gl U

(C) JgoHH fos =% (D) Yohd HRAEC =6
Shear stress on mutually perpendicular planes are

(A) Zero (B) Maximum -

(C) Equal (D) Minimum

For maximum discharge, ratio of the pressure at the exit and at inlet of the
nozzle (P,/P,) is equal to —

Afpan s @ R & & e R s\ (P,/P) 9% ©@ &1
squa paw sw@Ew & 7

(A) [2/H(n+1)]verD @) [2/(nt+1)]@-D/n

(©) [2/(n+1)]¥E-D D) [2/(ntD)je+D/a

Curtis turbine is an example of —

(A) ' Pressure compounded impulse steam turbine

(B) Pressure — Velocity compounded impulse steam turbine
(C) Reaction steam turbine

(D) Velocity compounded impulse steam turbine

&HfEH TIqsa U@ ILENUT 2

(A) @ HgfSa @7 A9 TGS BT

(B) <SE—IT HIOIFGIG 39T 99 e¥gIgd &l

(©) ufafsar =9 exaE=Ea &1 '

(D) a7 HAOWST 3MasT HIY c¥EEA &1

A coil is cut into two halves, the stiffness of cut coils will be

(A) Double (B) Half

(C) Same - (D) None of above

TS HUScll DY QT SR 9 H O & omar #1528 =) 9 gt
8T SR

(A) T B) IEn

(C) =HHH D) T 9 HE ABT
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A device used to increase the temperature of steam without raising its pressure
is called:-
(A) Fusible plug (B) Pre heater
(C) Economizer (D) Super heater
w&mﬂmﬁmmwaﬁwﬁa%ﬁmmaﬁmﬁ
arell gfda ) o« HET Snar & ?
(A) TR wET B) vydaus
(©) fAagafs= (D) 3fd <us

Maximum efficiency for a single stage pure mmpulse blading (symmetric)
with nozzle angle ‘o<’ is

<A Hor ‘oo’ A ThHE AR fAgE AT wew (WEMAG) @ farg aife
THaH SET B

(A) cos o (B) cos? o

(C) cos [%J (D) cos? [‘3"]

A large cylindrical vessel was sealed in summer What is likely to happen
to it in winter?

(A) Nothing (B) Explode

(C) Buckle & Collapse (D) Become lighter
wméa*mammaﬁmazgﬂﬁaﬁmrw%lsﬁﬁwgﬁw
9 UHE  OSIT|

(A) @B T8l : (B) w

(©) Famsm (D) s&BT 8 QAT
Which of the following is a high pressure boiler?

(A) Lancashire boiler (B) Cochran boiler
(C) Benson boiler (D) All of the above
91 % 4 B S=a q@ Ww G & 7

(A) dTHEMIR U (B) ®IHI[ IR
(C) T qEIeR @dO) TUET GH

Expression for the specific entropy of wet steam is —

o w9 $l fAare e @& fw wm &

L
{A) Sy + Xsp B) hp+ x',}':
L
(C) sp+ X8y (D) sp+ x-?:
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Weakest section of a diamond riveting is the section which passes through
(A) 1% row
(B) 2™ row
(C) Central row
(D) One rivet hole of the end row
Trmve Rfafda 3 999 FHGR Hic a8 e 8§ ol YerRdl B
(A) v dfada 9
(B) fafy o &

(C) g & ofxr &
(D) T Rfae @1 @3 oh anReH dfda d &

The specific speed (N,) of a centrifugal pump is given by~
ATBE W @ fRAftme a1 (Ng) & frad sRT Iag Sl & 7

N :ZQ N !tQ

(A) Hl/-l (B) HSI-‘
& NJo NEZQ
( ) Hz;g (D) H3,4

Impulse Turbine is generally fitted —

(A) About 2.5 meters below the trial race

(B) Slightly below the tail race

(C) Little above the tail race

(D) At the level of the tail race

TN oEEA, WHFAG: HEl g Wil ’a-‘ ?

(A) frectl § ener 26 #Wex W9 *-5:7"’-5
(B) ResHh ¥ oher @ \!

(C) fawsiN & oSt W

(D) fawef & W W

Solid and liquid have

(A) One value of specific heat

(B) Two value of specific heat

(C) Three value of specific heat
(D) No value of specific heat

oy aur @a ucrl 3 fafise S=rg

(A) u®H & Bri @ (B) 1 Brh 8
() = BN & (D) & ERfl B
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The degree of reaction of a Kaplan turbine is:-
(A) Equalto 1l
(B) Equal to 180

(C) Greater than zero but less than yz

(D) Greater than }é but less than 1

DA TXAEA @ fAHaEr B oTEr E-
(A) 1 & SEY
{B) 180 & «q«EN

© T W IR g Y W ww
(D) 1%?@4%%‘&&%

Pick up the wrong statement about centrifugal pump
(A) Head is proportional to speed?

(B) Power is proportional to speed?

(€) Head is proportional to Diameter?

(D) Discharge is proportional to Diameter

IYGAT T P IR H AT P b |1 F 7
(A) el @12 o1 wargarn &

By =i, Af? &1 SR 8

(C) e, =re? &1 gEEaEn ¥

D) faustH s = " EEarh #

Internal Energy is a function of only

(A) Pressure (B) Temperature {(absolute)
(C) Volume (D) Pressure & Temperature
ar<if¥& ST U BewrT 8 @adl

(A) TE & (B) <ATgHN &7

(C) II= B D) <E T amEaHEE BT

For a fluid at rest:- ;

(A) The shear stress is zero only on the horizontal plane

{B) The shear stress is zero

(C) The shear stress in maximum on a place inclined at 45° to the horizontal
(D) The shear stress depends upon the co-efficient of viscosity

e R 81 gv @r 8kr & ?

(A) JIgouer uftas, Pdaa &fs o o e 8ar &1

(B) 3Igvuvl ufdaw, =g 8iar &)

(C) 3argsgor gfaeas, Afdsr & 45° & I 9v fSyeaw 8ar &)

(D) ageger gfegsl, Ta=ar Pone v R Sar &)
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65 In a static fluid:-
(A) Fluid pressure is zero
(B) Linear deformation is small
(C) Resistance to shear stress is small
(D) Only normal stresses can exist
wifow axa 5
(A) TR T I EET B
(B) Y& fasuvr &8 BT ¥
(©) saur wfaga @1 e &= 8ar &)
(D) @Had aErg wfdgd 99 I8 "Ha B |
66 1 m’ of air at pressure at 10 kg/cm? is allowed to expand freely to 2 volume
to 10 m?.The work done will be
| m® ar] RrEdT &@ 10kg/om3 &1 9/ o1 FI9 ¥4 | B far
$ SIg O SHFT AEIT g I 1om3 € W & B el -
(A) Zero/ TH : (B) + ve
(C) - ve (D) 10°Kg m

67 Gauge pressure is equal to
(A) Absolute pressure + atmospheric pressure
(B) Absolute pressure — atmospheric pressure
(C) Atmospheric pressure — absolute pressure
(D) None of these

TS ™ BT B _
(A) Tl T 4 AgHSHA T B SRIER
(B) ¥ THE — digHSNd M H SXEN
(C) aigrsca gd — TR g & WNEN
(D) F7 A FEd Adl

638 In reaction turbine:-

(A) Total energy of fluid is converted to kinetic energy in the runner

(B) Kinetic energy is appreciable as the fluid leaves the runner and enters
the draft tube

(C) The vanes are partly filled

(D) It is exposed 1o the atmosphere

yfafsar exaiss H—

(A) TR A e W wEpt Gu it Sl # aRafia & S 2

(B) g a9 IO} @I predl § IR SUE g9 A $3w HRdl 8, a4 7w
oIt wIHT B B '

(C) FF Fifrwm v A W BRT B

(D) dF dIgHvsSA P IgEHa BT £
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69 According to Clausis statement
(A) Heat flows from hot substance to cold substance
(B) Heat flows from hot substance to cold substance unaided
(C) Heat flows from cold substance to hot substance with aid of external
work
(b) B & C above
FATEH @& JFFHR— _
(A) ST 1 garef ¥ ove ygrel @t iR gsdl &)
(B) A1 faar 9w o] & gerRf ¥ vl uygrRi 9 iR 9sdr &
(C) =0 Fea DR 9 WERRT © oUS gz 9§ i gepd o Al

qEcit &
(D) ST B & C

70 Kinematic viscosity is equal to:
{(A) Dynamic viscosity > density
(B) Dynamic viscosity / density
(C) Density / dynamic viscosity
(D) Nomne of these
GGgfod war-ar Brfy &
(A) WIf® Ta¥FaT =~ "9eg & awTEY
(B) ifeas »aFEar / udacaT @ 99Ew
©) =" / R w&a=Har & aGeEs
(D) THH A ®rE Y % 3
71 The relation between the number of links (L) & number of pair (P) is:-
fodT (L) Y dwar sir gost (P) @Y wwer & &= waser gur & 7
(A) L =2 P.3 (B) L=2P-2
(C) L=2P-4 D) L=3-2p
72 The temperature of interior surface of cylinder wall of 1.C. Engine is normally
not allowed to exceed
g, W gor B fufdvey @ WiaRe was o aumE B @ gua e
AW T "ga faar wmenr &
(A) 80° C . B) 120°C
(C) 180° C (D) 240° C
73 Inversion of a mechanism is —
(A) Changing of a higher pair to lower pair
(B) Tuming it upside down
(C) Obtained by reversing the input & output motion
(D) None of the above " !
foe T=mmeh @1 gopwu —
(Ay T=RW Yiaer ®Y Preav gater 8 s=eEt 2 rn @)
(B) SS9 S&e a9 Bar &)
(C)%W%ﬁmﬁmmﬁ%ﬁemmgr

(D) VYRS q BIE A8 |
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A simple mechanism has:

(A) 1 link _ B) 2 links
(C) 3 links (D) 4 links
Up WA dFiga)  H BRfl & : :
A) 1 5 B) 2 Hfedl
) 3 it D) a it

Efficiency of IC engine is normally of the order of
IC SS9 & ST @ 8rn §—

(A) 15-20 % | (B) 20-25 %
(C) 25-30% D) 30-35%

The purpose of flywheel in an IC engine is —

(A) To regulate the fuel supply

(B) To increase the power capacnty of the cn.gme

(C) To reduce the vibration in the engine

(D) None of the above

TP 3. WL Wﬁvﬁwwwwmzﬁm%?
(A) == gRT =1 At @<=

B) I o1 fam @Ear HY 9gF

(C) S H DY BHH DT

(D) Sux | P1E A8t

The maximum & minimum speeds of a flywheel during a cycle are N; & N,
rpm respectively. The coefficient of steadiness of the flywheel is —

TR W B UE |E W e an 9T s afadl sEen N 9=

N, rpm &| 999N, TF & Rewar — gﬂmﬁﬁmmm*
N, - N, N, + N,

A 2§, -N,) ® 2(N§, -N,)

< DTy iy | s,

- N, - N, R

Cetane number of petrol is around

Igre I HieT wear B 8—

(A) 10 @) 20-15
(C) 20-25 @) 55-70

Tension in the tight side of a belt drive is 100 N & that in the slack side is
60 N If the belt breadth is 10 ¢cm & thickness 4 cmWhat is the maximum
stress induced in the belt? _

TH Ucel O P B URd ¥ g9 100 N & 3R g Y urmd |
60 N & afe s &5 9iIe1S 10cm B 3R dCcE 4cm 81 7 gge § uRka
sfdpan ufoas fFasr srm —

(A) 2.5 N/ecm? B) 1.5 N/cm?

(C) 4 N/ecm? (D) 2 N/em?
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80 For a flat open belt drive the belt speed is 880 m/min & the power transmitted
is 22.5 KW. What is the difference between the tight side & slack side

tensions of the belt drive?

ﬁﬂ%mm—wwﬁ,u@aﬁw.am%amﬁﬁﬁwﬁm
225 B UCTT W9 @ HAT (S1ge) 9rd dor iye ured gerEt # gy

<R BRM?
(A) 9000 N B) 6450 N
(C) 1540 N (D) 1000 N

81 Governer is used in automobile to:
(A) Decrease the variation of speed
(B) Control / B¢
(C) Control §N -
(D) All of the abave
ifSFETssl 3 e BT wIEnT fBFET s 85—
(A) =Tl 3 oRads &7 &8 9 o5 forg
B) SN/& 1 AafFa s & fag
€) N = Prafa = 3 fom

D) Sudaa N

82  Which one of the following is a gravity controlled type governor?
(A) Hartnell governer _ (B) Hartung governer
(C) Wartr governer - (D) Pickering governer
Frafafaa § 4 @9—r o AR ger @ e &
(A) BIEAT Tad B) st Tadw
(C) e o (D) xRy Ta+iv

83 Increase in pressure
(A) Lowers the boiling point of a liquid
(B) Raise the boiling point of a liquid
(C) Reduces its volume
(D) Does not effect the boiling point of a liquid
E1E B -3 |
(A) ©F BT FRTIPE IR Sy &)
(B) w49 &HT FOIATEH 949 AT 81
(©) anmcas ue war &1
(D) TEUATH Y P WHEF FE ST
84 Hartnell governer could be classified under the head of :
(A) Inertia type govemner (B) Pendulum type governer
(C) Dead weight type governer (D) WNone of the above
SIS AR &1 aiffewer b ot & sianta At o owwar & 2
(A) TI$T UBR B T (B) EPF UBPR P AT
(C) Fwasl wR gorR @& waR (D) S | B1F T8
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When the speed of governer increases then:
(A) Height of governer & radius of rotation increases
(B) Height of governer & radius of rotation decreases
(C) Height of governer decreases but radius of rotation increases
(D) Height of governer increases but radius of rotation decreases
Si9 sfEffEae A1 afa sgdr € O
(A) RfFTaIe 1 FaE 3k PrE H B sesd @
(B) IfefSgss o 92 IR g 1 B ged B
(C) IEfFE=s s &1 Sug g & g o= ol o sedr &
(D) 3fafsEae @ Foid s & g 9o 6 B i 28

Which of the following boiler is water tube boiler?

(A) Locomotive boiler (B) Cochron boiler
() Cornish boiler (D) Bab cock & Wilcox boiler
1 ¥ &1 ™ O dfger o Ton dfaee Brm E -
(A) opEfeEs diaer (B) ®ERM TR
(C) RfTe dfFaax (D) ATPTH Uvd fAapis «Ter
Which of the following gear system have minimum axial thrust?
(A) Bevel gears (B) Helical gears
(C) Double helical gears (D) Spur gears
1 A fpa e — gorell § aiefia wohe <g=as wsar & 7
(A) 3@ firaR B) Josfaa frar
(C) fEmrsfaa frax (D) =R =
In a gear drive module is equal to:
i i

(A) Diametral pitch (B)  Circular pitch

Circular pitch Diametral pitch
©) T (D) 1
e frar oo d odfegs fpead @@ 8idar 8 ?

1 1

A st - B T e

FNT ATALA =qTErg AT
<) 77 o) 77

Thermal efficiency of thermal power plant is of the order of
T a9 ufda SO @ HeNy qerar 8t & (Svman)
(A) 15% (B) 20%

(C) 30% (D) 45%
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Lewis equation in spur gear design is applied to:

{(A) Gear

(B) Stronger of pinion or gear

(C) Weaker of the pinion or gear

(D). Pinion

wWR R fSoms § SRw wfesww a1 yadm ®el srar &
(A) firge

B) WOfFmE a1 frar #6 S 0 aoga =

(C) [z a1 frar 84 @1 N FasrR &8

(D) fftmas

Rivets are made of -

(A) . Brittle material {B) Ductile material

(C) Soft material (D) None of the above
Rac s uarl & 9@ o &

(A) R yarl (B) =g gagwef

(C) 9y uggred (D) QU A O F1d =718

Fconaomizer in boiler

(A) TUIncreases steam pressure
(B) Increases steam flow

(C) Decreases fuel consumption
(D) Decreases steam pressure

S19&R A SBETHIGSR

(A) qgTn 8 €9 & QE BT

(B) 419 & yaig &1 931 & fa
(C) 1 &8 wd HIa fae

(DY ¥ & <T@ g @ g

The shear strength, tensile strength & compressive strength of a rivet joint
are 100 N, 120 N & 150 N respectively If strength of unriveted plate is 200

N, the efficiency of rivet joint is:

Uh Rae SIs 9N gsuer |me], a9 weveal qenl eI wimes  mrer
100N, 120N @21 150N & agq9R afx fa=1 Rae @51 w2 A amed 200N
g @ Rae Siie AN caar feaf &rfi 2

{A) 60 % (B)
(C) 80 % (D)
Normally cam moves with-

(A) Constant velocity (B)
(C) Variable velocity (D)
HEIRVIAAT BH  gHEHaT 8—

(A) @ ol @ (B)
) afr (D)

EJE-2015 / lI_A ] 40
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in the imputse turbine, the steam expands
{(A) In the nozzle
(B) In the blades
(C) Panly in nozzle and partly in blades
(D) Neither in nozzle nor in blades
S @vERg {§ v Bedq &
(A) -fiord A
(By &&= #
(CYy 3l distad d a=in IRl s #®
(D) < S\fAs ¥ a &9 #H

1he contact between cam & follower is to form a:

(A) l.ower pair (B) Higher pair
(C) Shding pair (D) Rolling pair
wH O30T ﬂmma‘sé‘raamﬁqu%‘?
(A) =T IS (B) T=rR goa
(C)  wdu igm:f (D) doorH gITA

The pitch point on a cam exists on-

(A) Any point on pitch curve

(B) Point on cam pitch curve at wluch pressure angle is minimum
(C) Pomt on cam pitch curve at which pressure angle is maximum
(ID)  Any point on pitch circle

T v fa f{sg swr &

(N e g e o W feeg

(B) wA fa am W a8 fag 19 o9r _|YATH T@ @01 8/ B
(C)y @y fag g 9 g8 Ry Y uww sfsaa g @wr 8xm &
(D) " gt gr #Fig N Rg

The funcuon of condenser in thermal power plant is

(A) 1o act as reservoir to receive steam for turbine

(B) To condense steam imto condensate to be reused again

{C) To create vacuum
i12) Al the above

ey Tty wam # wufay ot ewar &

(A) GF &Ug F TR T SRR @ W9 UdEiNa Sxar & |

(B) g @ " & for e a8 | SudnTt # A W 9D
(Cy HEl SO e @ faw o

(D) Z=F W N

Using lubnicants on engine parts is an example of reducing-

(A Nlotion (B) Force

{(C) Acceleration (D) Friction

Foff T ‘FﬁqWWTmﬁFﬂmEﬁT?ﬁﬂﬁﬁfﬁT FQIERU] 87
(A #ifa (By o1

(Cy &RYT (D) &gy
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In thrust bearing, the load acts
(A) Along the axis of rotation
(B) Parallel to the axis of rotation
(C) Perpendicular to the axis of rotation
(D) In any direction
eve f@af¥r (thrust bearing) § wR a1 @91 (direction of load) B/ &—
(A) 99 3| & IFGTAIH  (along)
(B) g 3| & HHIFAR (parallel)
(C) YA 3|, & o=ad (perpendicular)

(D) & N fEem

Volumetric efficiency of air compressor is

(A) The ratio of stroke volume to clearance volume

(B) The ratio of air actually delivered to the amount of piston displacement

(C) Reciprocal of compression ratio

(D) Index of compressor performance

arg OIS 9 IgAfIe gaar 8 8

(A) 5T AT AT INNIEAAE &1 A

@) fHfdvs # usor O 1 a1y &1 aafd® AT AT EHdteT B ww
AT BT AT -

(C) WHUrSA U BT HaHH

(D) W= & T HT gabis

The life of bearing is expressed in:-

(A) Lac of revolution (B) Billions of reveolution
(C) Thousands of revolution (D) None of the above
T &1 SaT  (bearing life) a9 w=f¥ta a1 smar &
(A) SRsFAT & arFg #H (B) uf¥sm T & 3w A
(C) 9w & a9 A (D) SOREKT A P18 51

A particle acted upon by two forces is in equilibrium. Then, the angle between
the two forces is equal to:

Th fAdg g = ST I® ST 99 9raERy § 8 9T §dl & 4 &
DU BT AT BRI

(A) o0° B) 45 <

) o90° (D) 180°

Centrifugal compressor works on the principle of

(A) Conversion of pressure energy into KE

(B) Conversion of kinetic energy into pressure

(C) Centripetal action

(D) Generating pressure directly

IqP<w! AfNesE Hd wwar & fa R gv?

(A) == o o1 afora a3 gRaffa ooy &1

B) W ST BT I/9 ol & gRafRfa oear &)

©) afap=s =

D) I T IO Al B )
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© V="Ton ®) V=o—
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The law of parallelogram of forces gives the resultant of —
(A) Parallel forces (B) Two coplanar concurrent forces
(C) Like parallel forces (D) Non Coplanar concurrent forces
SEt @ SEFEFOR wRe @ Fam g aRewl ge @1 39 sa Rear
SiIel] 8- ' -
(A) TEHFTFIR € @) (B) T HHO™E TR S BT
(C) THEw THHERIR g6 &1 (D) SHaeld SOl §@cli @1

The acceleration of a body is expressed by:-
faus &1 w@xor uefa fear T 2

dv d’s
Ay o (B) i
dyv _
(<) vd—: (D) All of the above / SHIFd 9%

The volumetric efficiency of compressor with increase in compressor ratio
will '

(A) Increase (B) Decrease -
(C) Remain same (D) None of above
Hirsw JgaTa @5 W HUISH Bl IAAD  GEL
(A) wedl &8 (B) Ted ¥

(C) wHHE & 8 (D) s | BE A9

The velocity of the object on earth when it is released from height ‘h’.
h S=€ ¥ g=ft o fiRa g2 s =1 37 =rm &

(A) V=2gh? B) V= Joghn

| 2

2g

The direction of frictional faorce acting on a body which can slide on a fixed
surface is :

{A) 1In the direction of motion

(B) MNommal to the direction of motion

(C) Unpredictable

(D) Opposite to the direction of motion

Yy fUis u¥ & o <8 udoh @ o fRur =71 & o ReRr |ag 9 |/do
I Hpar & 7

(A) TIfa = fawr §

By I FF R ==

(C) 3IFHAT™E S o gl §if Hadr

(D) wifa &) e 9 /(A
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110 Efficiency of gas turbine is increased by

111

112

113

114

115

(A) Reheating (B) Intercooling
(C) Adding a regenerator (D) All the above
T oxass @) wEwr @gda &=

(A) gIEGE GIRT (B) Wwgiae g
(C) A Rex de@ | D) = A

A body is moving in a circular path with radius ‘r’ The relation between
its linear velocity ‘v’ & angular velocity '¢p' -

tw favs B gomer of (Bowr 'r) o= g9 e 81 sue W9a an
vodel g T oy d W BT &

{(A) v=rmw? B) v= wf

(C) v=r/w (D) None of the above / IWTT W DIF A1

The value of frictional force is:-
(A) More than external force (B) Equal to the external force
(C) Less than the external force (D) None of these

g9 § BT HE SRT OB -

(A) s=g s 9 It B) TG §d q S¥EY
(C) &9 s | &9 D) T | FE T8
Unit of thermal conductivity in 81 unit is

SEHA FIAPHr YONs B ST HrEe SR S

(A) J/mZsec (B) J/m°K sec

(C) w/m°K (D) b & ¢ above / SUAST
The frictional force between objects that are stationary is called:
(A) Rolling friction . (B) Kinetic friction

(C) Dynamic friction (D) None of these

WaxY avg3l @ 499 '5deT B T el Wi & 7

(A) Qoo ey (B) ufeda emur

(C) w4t (fa®s) edor (D) SR 9 P 81
The ratio of ultimate stress & working stress is called —

(A) Factor of safety (B) Modulus of elasticity
(C) Poisson’s ratio (D) None of the above

sif~an ufd"SS (uitimate stress) Ten SRIEN  wfass (working stress) &
I BT FEd BT —

(A) YW onE (factor of safety)

(B) URIAT IUIIE (modulur of elasticity)

(C) qEFSi_ 3guid (poission’s ratio)

(D) STRIFa § § i 98
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The vapour compression refrigerator employs the following cycle

(A) Rankine (B) Camot

(C) Reversed Carnot (D) Brayton

amg yeae §dted T e wshH g1 g aar € 7

(A) XMf=Ha UshH (B) &HRRATE WHH

(©) fafgda ®RAET aHA (D) ¥ WA

Which of the following is a dimensionless quantity—

(A) Stress (B) Strain

(C) Pressure (D) Shear modulus
FrafefRea # 9§ a9 & s RwdEa asr &—

(A) wfass B) R _

(C) -™ (D) ATV HITEH
Hooke’s law holds good upto:

(A) Yield point (B) Limit of proportionality
(C) Breaking point (D) Elastic limit

g§p &1 fras @y Bem 8 —

A g fag a® (B) wHEMiaear & HT a6
() fams fAg o (D) wE™el WA db

The condenser and evaporator tubes in a Freon refrigeration plant are made
of

(A) Steel (B) Copper

(C) Brass . «D) Aluminium

<afys e andieRor @) Aferdt wWienE weiaa W W fRa g @ and
wiTH B 7

(A) zE™ - @) ol

(C) daa D) IgHfAaEH

The bending moment on a section is maximum where shearing force is -
(A) Minimum (B) Maximum

(C) Zero (D) Changing sign

e ufR=dT ux dbe ATYYl, IYHUVT ¥ FE ybHR FHT 8 U, IfenaH
BRIT 8—

(A) =gaaH : (B) 3IfO&a#

(©) TH (D) uRgsh fas

A simply supported beam caries a uniformly distributed load of W kg { per
unit length over the whole span (1). The shear force at the centre is:

UFH ARG TSRl 2o &7 RIfA® THaA Ao W kg Fufldl tes
e, SWs Wt ®WE () @ A ¥ aggER 9Wd dT UY AOsaOT
Tq fasm sem ?

w2 ' wi

Ay —— .. B) 3
Wi

(C) =zero /9™ (D) ?
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Unit of viscosity is
TUFET YOTieh @1 SI ATEES BR 8
(A) m2/sec (B) kg sec/m?2
(C) N sec/m? (D) NsZ/m

Two simply supported beam A & B has the same length ‘L’ & subjected to

equal bending moment M. The stress induced in the beam A & B are o 4
& o g respectively. If the cross-section of beam A is b X b/2 & that of beam

B is b/2Z X b, then correct relation between ¢ , & &y is:

ST YEIiad U8 A T B UHHAF a1 L & & 3R S9%1 S5+ HTEet
M¥ U §HIH &1 g9s A 991 v B H HHE: o, 9 o, Uidea alRkg
8| agaR afy gos A &7 agEwl yR@sa b < b/2 3N B &1 b/2 x b =Y,
dl A 9 op @ =M HI WE WER] T EFT 2

(A) ©, =20 (B) ©, =40

B
{3
o T -
©) o, = 4 (D) o, =0,

A composite bar is made of steel & Aluminium strips each having 3 cm2area
of cross — section. The composite bar.is subjected to an axial load of 12000
N. If E ;. =3 X E,; the stress in steel is —

(A) 10 N/mm? (B) 20 N/mm?2

(C) 30 N/mm-? (D) None of the above

UFH HEFRI Pl il B ol swig J= ggfAfvan @ ugdidr | o=
g ooy o & gy I BT aETA 39H2 #| Wyad Bic gl Be
9¥ 12000N &1 IENT AR AT ART 8| 3R E _~3E,, 81 O &g
# uftes 8-

(A) 10 N/mm? (B) 20 N/mm?

(C) 30 N/mm? (D) TSWRET | 1S A8
The frictional resistance of a pipe varies approximately as
(A) Velocity of flow B) v?

© o 2

A g9 d 989 910 €9 YR oA gfclr =9l ufaeeEr &1 W ORiR @Rar
&
(A) €9 @ waE 997 9% B) @2

© v @) (D) (@FmR/2
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1 When two capacitors are connected in series, there total value of capacitance-
(A) Remains same (B) Reduces
(C) Increases (D) None of these
S S dufdex aw H HUN HmE A oS Wi 8 dl S9dl HIEA
(A) fRua zsar & (B) Hcdar &
(C) wedr & (D) 99 9 HIg T80
2 In an electro dynamometer type Watt meter if the voltage and current measured

are given by 9 = 100sin314sr and 7 = 10sin (3 147 — 600) respectively,

the reading (in watts) will be
UPh TGS SITTHFIER gedleYy § dieew U ORT AT e &

® =100sin314 Td 7 =10sin (3147 - 60°) sa Mex @ AR (A
) A= @Rt ?
(A) 1000 (B) 500 (C) 250 D) 433

3 In a series R-L circuit with supply voltage of 5V, the voltage across the
resistance ‘R’ is 3V. The voltage across ‘L’ will be

g o R-L ufRaer #§ gff (Weng) deedr SV 8| 3R 'R @1 areedr
3V B @ L’ @ IR UrR fhaWR daeear 8Rf1 ?

(A) 2V (B) OV
(C) 5V (D) 4V
4 The domestic electric supply is what value of A.C. supply
(A) Average value (B) Mean value
(€) RMS value (B) DC value
®wi N ugad 89 darenl g Wi AC &7 B9 |r A B8R ' O?
(A) @S = B) #AF =#HA
(C) IIRYATH HF (D) A A7
5 In the measurement of 3 phase power by two watt meter method, for an

unbalanced load, the power factor of the load is
ey gfaa \gs @1 7 e #Wew (Y #§ srEgféaa R 8g AR @0
fdg—gore =1 S ?

o M W =
(_A_) cOs tan_l {ng} (.B) oS tan_’- { 2 ;V'l }

W, + W, W, + W,

(©) cos(W2 — PVI) (D) None of the above

g1 H |9 HIE AW FJEr
EJE-2015 / 1_A } a7 [P.T.O.
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6 The doping material for an N—type semiconductor is
(A) Pentavalent (B) Tetravalent
(C) Trivalent (D) Bivalent
UH N-—UHER B Efadae B &Y "3e s 2 7
(A) Y49 HIIGB (B) g WIS
(C) T=HEaoT (D) fEHaws

7 Damping torque is essential to

(A) Increase oscillation

(B) Reduce oscillation

(C) Maintain Oscillations unchanged
(D) None of these

SMan e weaget @ =iy aw —
(A) 3iiferas sgrar &

(B) 3Ifiara &9 HRar 2

(C) oo safRafda <mar &
(D) s | #»1E 98

] In which of the following instruments, a disc is present?
{A) Ammeter (B) Voltmeter
(C) Wattmeter (D) Energy meter
= 8 e Sumvor 8 wr v By 2
(A) THIeR (B) dreeifer
(C) TreHIcyY (D) IAGIIHNICY (SorEmd)
9 Two coils have self-inductances L, and L, henry respectively. If the two

coils are connected in series and the Mutual inductance between then is M
henry, the value of maximum resultant inductance of the combination will

be
aagugm'ﬁmmh vd L, 279 &| SS9 Ao ¥ oy
Td OE w8 URWRe WReed M 2499 8 v ool Oveea T
‘ST 5 ?

(A) L;+L,+M (B) L,+L,+2M

(C) L,+L,-M (D) L,;+1.,-2M

10  Stepping up of voltage during transmission is done to-
(A) Increase efficient power transfer
(B) Maximum power transfer
(C) To reduce Transmission losses
(D) To reduce voltage losses

SR & Wen dieew @1 WY 339 har oirar 2 2
(A) MTEHIfdIg—e dfay givey ses™m @ for

(B) #Afdwaw digr giemy @ ford

(C) grafeTs & &8 o & fao

(D) RS S dd FHH @ fore
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11 The meter constant of a single phase energy meter is 500 rev/kwh The meter
takes 86 seconds to make SO revolutions while measuring a full load of 4.4
kilowatt. The percentage error in the meter is
wF gaAfer w1 Reid 500 am / freae der B 44 P @ gl
aR Ux WleT g6 Adve i 50 damR SRTET ¥ Wew @ aftwr IR &
(A) -2.43% (B) 243%
(C) -4.86% (D) 4.86%

12  What is that property of a coil called under which if there is a change in the

current flowing through it, a voltage gets induced in the coil itself as well
as the neighboring circuit?

(A) Resistivity (B) Inductance

(C) Charging (D) None of the above
f&?ﬁ@m{niaﬂ{wﬁaﬂfwﬁ%mwmwﬁ
gfRadd 2R 9R IW @uedd den Swe Wb |@f¥e # aRa fAga awe
gd 39 B WO & 7

(A) wi_EEs (B) W&

(C) At (D) s W ®mrg T8l

13 Synchronous speed equation is
fEsprra e T wHReYer By ' 7

1207 ' 120/
o : Nx =
(A) Ns B (B) \ 7
rr ) 120
} o s Ns =
(Cy Nswm—s (D) S = TF

14 A DC series motor is best suited for
(A) High starting torque requirements
(B) Low starting torque requirements
(C) Constant speed
(D) High speed
o DA simen (9w) Hey ot sugdw B 7
(A) <ea wiEfye e d@in &g (B) FE grRfyE e Hin B
() e oifad & D) S=a ufa 'q
15 Three currents i, , i, and iy meet at a node. If ;=10 sin(400t+60")A and
i,=10sin(400t-60")A then i3= .
&= ERN iy, i, U9 i; U s X @ ) 8 3R i;=10sin (4001+60)A
Td i,=10sin(400t-60")A & o1 iy T A arT (TR H)

(A) ©O _ (B) 10sin400t A
(C) -10sin400t A (D) -543 sin 400t
EJE-2015 / 1I_A ] . a8
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Which of them is peak load station?
(A) Small capacity thermal plants
(B) Diesel stations
(C) Run off river plant
(D) All of them
g | G T wIE dF & ?
(A) &7 &\9a1 & ofd wie (B) IIoid @9
(C) 31 3 Aarv e (D) SuAdad

In which type of frequency meter, the frequency is found when the torque
in the moving coil becomes zero?

(A) Vibrating reed type

(B) Permanent Magnet moving Coil type

(C) Moving iron

(D) Electrical resonance type
ﬁwﬁ@%mﬁn@mmﬁamwaaﬁﬁw
& YA B ST WY fdur omar & ?

(A) THAHEE I3 wHal B) W F=HT Tl HoSN IULH
(C) = ' g9 (D) Jga arqars wmdr

Which three phase system-does not contain neutral?

(A) Star

(B) Delta

(C) Both do not contain (star and Delta)

(D) Both (star and Delta) contain

fra fHech Res § Seri= Hge) =8 8rar ?
(A) TR

B) Seer

(C) <1 H a8 8war (R IR S

D) TF # Brar & (=R R )

A synchronous motor is -

(A) Self starting I (B) Non seif-starting
(C) Sometimes self-starting (D) None of them
Th Rspa #Hew

(A) Jo weifdT 8l 2

(B) 9 dop wifdr a8y &

(C) &9 =0 Joh <ifdr a8 &

(D) 5789 | wiE F9&

In an attraction type moving Iron instrument, the damping torque is usually

provided by
(A) Air friction damping (B) Eddy current damping
(C) Fluid friction damping (D) Capacitive damping

wv&ﬁﬁé(&wﬁmu@mﬁaﬁﬁwm@mﬁvwﬁm
® BRI Sa= fear s@mar & 7

(A) arg O¥vr aHET (B) ¥WAR &RT agHET

(C) TRA o¥9or IygHaA (D) wafRF sygseT

EJE:-2015 / i_A ] 50 [ P.T.O.
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Which of the following motors has no winding on its rotor?

(A) Single phase Induction (B) DC shunt

(C) Hysteresis = (D) Universal

Pr & fra Aex B Jex H BE J[uSsed T8 BT 7

(A) TEH Ho YROT B) S I< X
(C) fEReRia (D) HEHD

Magnetic cores are made up of thin lightly insulated lamination to reduce-
(A) Power factor (B) Hysteresis loss

(C) Load loss (D) Eddy current loss

Fafew R OF e o ssgoes afteE & Bt @ R & e
BT T HH 8T

(A) dfar ®aex B) ReRfEw &

(C) <he &9 (D) T <

Swamp resistance and condenser are used
(A) To reduce the error while measuring DC quantities in a moving iron

instrument

(B) To reduce the error while measuring AC quantities in a moving iron
instrument '

(C) To reduce the error while measuring DC quantities in a moving coil
instrument

(D) Nocne of the above

wWay ufoREr ud 9uils &1 wanT
(A)aaaw'mﬁaﬁﬁiﬁfmg%aﬁmmﬁa%ﬁm%mm%
(B) O @E Suda @ wonadt o gfe @ oa v @ faw o

Rheostatic braking cannot be used in which of the following motors?

(A) Synchronous (B) Induction

C) DC (D) None of the above
Rafreeee afsT o1 waw e 8 | ey "Hiex § 98 81 "adar
(A) TS (B) RvT

(C) =S D) S q dF A8

- A transformer works on the principle of -

(A) Self inductio (B) Mutual induction

(C) Relative induftion e (D) Comparative induction
vs gieprR e 8 Q e fagra 9k & @wRar ®7
(A) TTH s B) A FTSaUA

© Rafea s=sawm : O) FREa TR
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Fqllowing is not an advantage of a Permanent magnet moving coil instrument
(A) It has a uniform scale
(B) It can be used without error for » long period of time
(C) It has good damping torque
(D) Its range can be easily extended
mewwmﬁ%ﬁﬁﬁaww

- (P T8 fYorar &

(A) TEST 9T §9H9Y BRT 2
(B)mmﬁmgﬁmat%ﬂmw%mvw%
(C) =I9=T Iaa—<a saee! st Slar &
(D)sma‘iwmawmiﬁﬁ%mﬁammwg

A three phase Induction motor always

(A) Works at lagging power factor

(B) Works at leading power factor

(C) Works at maximum (i.e. unity) power factor

(D) The power factor keeps changing with the load
BN

U s Svor Jrew :

(A) 9R=THT Ufda qures 9 Rl wedr B

B) 3TN fda Ui 9v 1 @wedn B

(C) 3man (1) ofed s o & @wdt 2
(D)-'sﬂ‘aﬁwqﬁava%nwa%waaaﬁrm%-

In DC machines the value of A equals to 2

(A) For Lab winding (B) For wave winding
(C) For Field winding (D) For Armature winding
S 7T F A BT "= 2 Bar 2

(A) 39 TiEfET &g (B) d9a9 aEf¥n &g

(C) Wilcs.aEfET ag (D) 3=FER aEdfET eg

The internal resistance of a voltmeter is 20,000 ohms. If this voltmeter is
connected in series with a resistance and a 220 volt supply is connected
across the combination. the voltmeter reads 200 volts. The value of the

resistance is :
waﬁaﬁmwsﬁﬂﬁmmm,moaﬁn%lwrﬁawm
nﬁnﬁ%wﬁ%sﬁmwzmaﬁwaﬁmﬁﬁﬁtmﬁw
200 Aree Ggar ¥ sna WY BT AW O P

(A) 200 Q (B) 4000

(C) 2000 ©Q (D) 20,000 Q

The supplier shall provide and maintain for the consumer’s use a suitable
earthed terminal in an accessible position at or near the point of
commencement of supply. Which IE rule states that?
WWWﬁQWWaﬁwmﬂ%ﬁmﬁinﬂ
mmmmwﬁmlusaﬂﬁwmﬁmﬁé?
(A) IE 33 (B) IE 61

(C) IE 67 (D) IE 88

[P.T.O.
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A series motor must never be allowed to run at

(A) No load (B) Full load

(C) Half load : (D) None of them

T WS Hex B T N e ¥ A Rpw v T8 werT wifdg ?
(A) 41 IS B) TA S

(C) 8% e @) ?ﬁﬁ q ®IE st

In a thermal power plant, feed water heaters, super heaters and air preheaters
are mainly used to

(A) Have a better dust removal in the plant

(B) Have a better Ash removal in the plant

(C) Increase the efficiency of the plant

(D) None of the above

g wifeRy Tu= H 6RUT Ofe O, anﬁquamq&ammaﬁrmﬂ
frar et 2 e

(A) Hu= # IER g fearer 8y

B) o= A Isaw @ Fradw &g

(©) I I e FFH G

(D) 7 & B A

Which among the following s not an electric braking method.for a motor?

{A) Rheostatic - (B) Regenerative
(C) Hydraulic - (D) Plugging _
o & | B | OARR faga #f®@T &1 aer 96 & 7
(A) ahefew B) IO |
(©) <wd (D) AT
The characteristic impedance of a loss less line in called.
(A) Leakage impedance (B) Peak impedance
(C) Small impedance (D) Surge impedance
wﬁﬁﬁﬁaﬁﬂﬁﬁﬁwmaﬁama%?
(A) Ndw FhSA (B) YW sFASH
(C) ¥ e - (D) wo =
For ‘what value of R; (in ohms), it receives maximum_.powex’?
. - SO . S
A 1 ]'
st Ze0 T
i

wﬁaﬂRLa‘fﬁmmﬁwmmwwﬁﬁn?
(A) 5 Q B) 6 Q
(C) 4 Q o 7 Q

EJE-2015 / LA } 63 [P.T.O.
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High voltage cables which are used for 132KV for these core’s are
(A) OQil filled cable (B) S.L cable
(C) Gas pressure cable (D) Belted cable
Wawuﬁmﬁ%ga‘v‘dﬁ?ﬁqmﬁwzwiwﬁimmﬁ
el Bfade B A ;B 2
(A) 9 gRa 3@« (B) S.L a3f@ar
(C) N @ =Hfae (D) ufeea «faa

Arc voltage is given by equation
MH TSt B HIA sy ® -

B
(A) 80=A+7;- (B) eo=A+B‘J;

A+ B A

=

(C) 80 = 7—" ¢ (D) 6’0 I + B
The c|.nrrent through a 2 resister will be

AP
o

Sa o #§ 20 gfoe d T2 O gRT =26 ?

A) 2A (B) 3A
(C) Cannot be determined (D) SA
& e S ow@ar

Through which source is maximum electricity generated in the world?

(A) Water (B) Nuclear power

(C) Coal (D) Solar power

SFET d weY surT Rvel e e W safea @ ol & 2
(C) rIger (D) A

If 5, 10 & 15 ohms resistance are connected in parallel, the combined
resistance is ohms.

ul%s,roaﬂ?waﬁqa%nﬁ’imwﬁg%%aﬁmﬁq%

(A) 15 (B) 10
(<) s D) 2.73

EJE-2015 / Il_A ] 54 [ P.T.O.
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41 The mechanical test is done on which type af insulator?

{A) Shackle type . (B) Pin type

(C) Strain type (D) Suspension type

Aty TdeoT oY P9 UBR ® @uieid 9X fpar Sar ® 7

(A) b TH B) = ==y

(C) famfa gs™ (D) s (TP g3 uredl
42 Separately excited and self-excited are types of which machine?

(A) DC machine (B) Synchronous machine

() Induction machine (D) None of the above

sHRACHET SHAISES T e saages 4 fPu ueR @ WA & uer

= 8 ?

(A) S w0 (B) geuslifae we

(C) =Y | (D) =99 | PIE A6

43 In terms of relays, IDMT relays stands for
(A) TInverse direct maximum time lag
(B) Inverse definite minimum time lag
(C) Inverse definite maximum time lag
(D) Naone of these

e & desy § IDMT @=r & 7
(A) 949 see Hfmma e EH o
(B) s=iu sfrre @fm o s &
(©C) s=u Sfhac ffewas o=Za a4
(D) 99 @ P TG

44 In a three phase Induction motor normally
(A) The rotor rotates in the direction of the rotating magnetic field.
(B) The rotor rotates against the direction of the rotating magnetic field
(C) The rotor rotates depending upon the supply given to it
([») The direction of rotor rotation does not depend upon the phase sequence
of the stator supply. ,

Fech weor "Her ¥ grEaadl
(A) Rex § Prafya ooff gedy &= o & faer d dex gEar ¥
(B) wex i Prfag it e &= & RAvda fRen § Jex gaer §
(C) ¥R F AN TE weE P R W qer THAT ¥
(D) e @ g FH fRer Rex ¥ @ we Iagpd Y v @8
Fn B _

45  Value of V,; will be-

V, @t #F BEI

L R Y R,
S
1A 20 “70 '«::"41\ e
: | _
1 ! ..
Ay 2V B) 4V
(C) -14V (D) -2V

EJE-2015 /H_A | 56 [ P.T.O.




Fga Tfmfs /1 ELECTRICAL ENGINEERING
46 The equation of velocity of propagation in transmission lines is given by-

ST s A WONR 9 ST AT

1 . L

A = B = gles
A) Jic ®B) C
i 6

©) 1 =Jrc D) = 7

47 The integration of a three phase Ahlternator with the infinite grid requires
which quantities to be same?
(A) Volitage (B) Frequency
(C) Phase sequence (D) All of the above
Wmmﬁmmﬁsﬁ@%wﬁmﬁﬁaﬁﬁﬁ
R W 8 enfag ? '
(A) aeeH (B) angfy
(C) o argwH D) sugFr w4

48  The resistance R, will be:
ufd¥®™r R, &1 AF 8T ?

50
-—f T
200
100 %400
b -
A 12 Q (B) 16
(C) 10 © D) 20 Q

42 One AU equals to
CHh AU &7 9F7 BT & ?

(A) 10%m (B) 10°cm
(C) 10%cm (D) 1010¢cm
50 Which one of the following is not a fractional horse power motor?
(A) Shaded Pole motor (B) Repulsion motor
(C) Universal motor (D) Synchronous motor
Frea 3 w1 was daerrer sRidfay stex a8 & 7
(A) TSS yg #Aex (B) ufdedm wrex
(C) a3 Hiew (D) g Mew

EJE-2015 / 11_A ) 56 [P.T.O.
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The value of "R’ in the circuit is.

R
P AAA

+ 10V - 100

Saag 9= 8§ R @1 99 8rm ?
(A) 10 & B) 5 Q

(C) 25 Q (D) Cannot be found
' A8 e S e

Incandescent lamp is

(A) Tube light ‘ (B) Bulb

(C) Sodium lamp {D) None of these
FrebSHT g BT B 7

(A) TYga wiEe (B) 4cd

(C)y <=fsas o= (D) FTH | B TE

The machine in which energy transfer happens both through induction and
conduction, is called '

(A) Two winding transformer

(B) Auto transformer

(C) Three phase Induction motor

(D) Single phase Induction motor

a7 AL forad ST w1 SwdaiaRYl, UXOT UE Gie (Esae) |1 | siar
2 @ AW B ?

(A) <1 Bree FTHERR (B) 3fie] TiEwRiR
(C) PHoh uver AR (D) TP Holl U307 HIc
The voltage V,_, in the figure will be

5V

|l —-Oa
V==

i} Ob

v
Saa B #® OV, BT HA BRI ?
(A) 3 Volts (dreT) (B) 7 Volts (@)
(C) -3 Volts (@) (D) O Volts (3e=) |
In the case of three core flexible cable the colour of the neutral is
(A) Black (B) Blue b '
(C) Brown (D) Green
4\ R voadEs Bed W gge Hf 9T g6l 8§ °
(A) BTAI 5 -(B) e
() @ D) =
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The maximum value of power factor is

AT Ui W AfHaH AT FaT ;2

(A) 0.5 ; ®B) 1
(C) 1.5 (D) 2.0
The voltage V,,, in the circuit (which is a part of a larger circuit) will be
— B oA
a ~AAAD 20
5Q "
sA e

W%ﬁ(ﬁ%ﬂ%ﬂﬁ%?ﬁt%@é‘)ﬁaﬁétﬂ Ve BRI ?
(A) 3 Volts (aree) (B) -3 Volts (aree)
(C) 15 Volts (aree) (D) -15 Volts (@)
Solder is an alloy of
(A) Copper and aluminium (B) Tin and lead

(C) Nickel, copper and zinc (D) Silver, copper and lead
TS U UHN BT e 8 7

(A) R g TgfAafyasg B) &= g s

(©) fe, @fux vad s (D) IR, wigr vd o

The intermal resistances of an ideal Voltage source and an ideal current
source respectively are (in ohms)

(A) O and oo (B) O and 1

(C) oo and o (D) oo and O
wma@mmﬁqﬁwmwwﬁfhmaﬁzﬁmzm;
Fr=1 8/ 8 @\ #®) 2

(A) 0O QWY o (B) OoUTgil

(C) oo T o M) o THF O

Which of the following is the description of largest size resistor? (given that
the material used in each is same)

(A) 100 €, 20 Waits (B) 10 . 100 Watts
© 1K @, % Watts (D) 1M Q. % Watts

%mﬁ%aﬁﬁwmaéwaﬁmuwm%(waﬁﬁwﬁzb

TerRf FHE 8®)
(A) 100 €, 20 9dE (B) 10 €, 100 dIc
(C) 1 ey Q, 1/2 T (D) 1 7 Q. 1/4 ae
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A thermistor has temperature coefficient of restsumce
(A) Positive (B) Zero

(C) Negative (D) any of the above

(A) SIS B) T[H

(C) HUTIH® (D) 578 § &E H

Calculate voltage at point A
A fig ® dreew &1 aREad PG

I A S 8B
i > 0.015Q } |
o | ol

2A 7 1) gt (L I2A

-:/:‘_o.ozsn -o45Q | & b

_ ) |
(A) -75V B) -50V
(C) 25V (D) -10V
The filament of an electric bulb is made up of tungsten because
(A) It is cheaper (B) It is brighter
(C) Its melting point is high (D) Its resistance is low

v faga 9 @1 (homic onrEes ol &1/ Skl & abifes
(A) d& ERN B B

(B) & GWHIOIAT BKIT B

(C) <HHI ToTis AE B 8

D) <HFHET IR HH 8 8

Transformer oil should have

(A) High flash point (B) High Viscosity
(C) High sludging tendencies {D) None of the above
SivErR sifge # SF1 =nfEg

(A) S=a @y fdg B) T TOEAT

(C) w=a ST =S~ (D) =99 A a%rsa‘ ?ﬁ.ﬁ

Three equal resistors are connected in series, across a source of‘ emf, dissipate
10 W of power. What would be the power dissipalted when they are connected
in parallel across the same source.

IS § S A7 FHE wfades emf TR B IR 10 die faga e awd
& | fpodt faga s &Fft af S oW Va ¥ IR IHERR F WS
femm wmw

(A) 10 W B) 30WwW

(C) 90W (D) 270 W
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An inductor is supplied with 200V at 50 Hz. The current flowing is
10 Amperes. The value of inductor will be
(A) 63.6mQ - (B) 20mQ
(C) 63.6m Henry (D) 20m Henry
wmﬁzmm,mmmwwm%?ﬁw%wm
ORT 9847 81 W &T "9F 217
(A) 636 e 3w B) 20 A=l 3w
(C) 636 A 399 (D) 20 A=l &2=8

DC servomotors are used in

(A) Purely DC Control systems

(B) Purely AC Control systems

(C) Both AC & DC control systems
(D) None of these

Sl WM. wal Hex &1 wanT ST 82—

(A) i I @ w2 Res 3
B) i v A g faweq 3§
(©) =Fr T M wd & A s oy

D) =79 § HE 98
Which of the following material is not used as fuse material?

(A) Aluminum (B) Tin

(C) Lead (D) Carbon
ﬁwﬁ%ﬁ%mm?ﬁrmq@mu&m&zﬁmﬁwﬁmm
(A) TgEfram ®B) fe=1

(©) =T (D) HEA ~

If the current flowing in the circuit shown is 2A, the value of resistance R
will be
Wﬁmqﬁwﬁzmmaﬁ%aﬁnﬁﬁmquﬁm

AAN
30
1
24v—= %R
(A) 6 Q 3B) 3 Q
© 9 O D) 12 O

The Household energy meter is
(A) An indicating Instrument (B) A recording Instrument
(C) An integrating Instrument (D) None of the above

RSl SoiT Hlex 8ar &
(A) Tw SEafeT s=g< B) TH AFfET s=ga=
(©) vw TR s=gire D A A HEF T8

[P.T.O.
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71 If Rg in the circuit shown in figure is variable between 102 and 400, then
maximum power transferred to the load Ry will be
fory 3 fewg sig oRuer F af2 Rg 10Q 3R 40Q & &= aRadl & o1
dre B R, o .saRa wwaw wfe 8rfi—

-
20H) R, =100
(A) 15 W (B) 1333 W
(C) 10W (D) 2.4 W

72 The value of R,;; will be

Ry D —— |

Ran =i: — ‘e

o s 1 - |

Sad ffrm # Rpp dT #F B
(A) 64 Q (B) 24 Q
(©) 144 Q2 D) 14 Q

73 A Q meter measures
(A) Losses in a capacitor
{(B) frequency
(C) accurate values of electrical quantities
(D) Properties of the coils
Th Q #HWeX Hudar 2
(A) dufxer ==

(B) argla
(@3] iagﬁm IR B e HEA C
D) FHtaa B o BT o
74 Permeance is analogous to . s SR
(A) Conductance . (B) Reluctance 3
(C) Inductance (D) Resistance ... :.:
geepATATT FIed BRI B— B
(A) TTABd B T @) uforew & z
© W B - @) wRwwEr B o5
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The current I, in the circuit shown is

-Sa R # ouwr I, Brf

(A) 4A B) -2A

(C) =4A (D) 6A

Synchro is

(A) Parabolic transducer (B) An angular position transducer

{C) A synchronizing transducer (D) A variable transducer

W=y 2

(A) Susifere Wﬂ' (B) T e tﬁﬁ’hﬂﬂ THSTEY
(©) T F=pEEfoiT grasgar (D) Th JIET TTEHSYER
Value of R is i

iR (R) &7 #19 —

i L
— e A J w s |
i 1A ._
2A(]D * 120 —’T: eV
-y A W ] s Beww 0B |
A) 4 Q B) 6
(C) 8 Q (D) 18 Q

In star-star connected transformer.
(A) Line voltage is equal to phase voitage
(B) Line voltage is equal to J:; ‘phase voltage

(C) There is no line current
(D) There flows no phase current

UPh ORI—ORT IJEE T=HBHI F—

(A) <EA dieear B9 dieedl @ S}ER BT )
(B) ET dieeat (3 Wyl dleear ® IER 2T 8
(C) 1E M =S ary 98 8- 2

D) HE W AT URT BT gRIT AT Bar B
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Relative permittivity can be measured by Bridge.
(A) Wheat stone (B) Hays

(C) Schering (D) Desauty’s

frafza aefidady &7 AT S g BB s -
(A deT ®) T

©) R D) SEW

The reluctance of the magnetic circuit shown in fig is-

H Ry v Hedhla |\fPc @1 gy 8

>
e ':
N
N7
(A) A : B) NI xl
NI o
©) Y ® 7

In a transformer copper losses at full load and unity p.f. are 800 W.
The copper losses at full load and at 0.8 p.f lagging will be

mﬁmmmﬂqﬁwwmmwamw

%laﬁqu?m?qamos Af & or amafay &1 7= aFm—
(A) 400W (B) 640W
(C) B8oOW (D) 200W

motor is a constant speed motor
(A) Synchronous motor (B) Schrage motor
(C) Induction motor (D) Universal motor

Hiex Fraa af el #)

(A) fE=prm™ Hiex B) HRE Hex
(€) T=|HE Hex | D) FThaes Aqex

Find total power consumed in the circuit given-
fag wir ufRuy & fAga & {1 @WUAG B URPAA BT

o.50

I I
$10 $10
10
(A) 266.25W (B) 261.5W
(C) 264W (D) 268W
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A 3¢ synchronous motors has been provided with damper winding. It can

be started as a
{A) Simple phase synchronous motor

(B) 30 squirrel cage induction motor

{(C) 1¢ induction motor

(D)} 3¢ alternator

v Hwmen geoeifaie Ay d armres aEdfisy wam fhar T 2 us
ey 9 3T el 8

(A) UTrd ol geaeiae T & w9 @

(B) e [Asd wRer Afied & w9

(C) UY&Fst ST U0 HE@x & B9 H

(D) TSPl JoeTFIeX H vU H

The gas filled in vacuum filament lamps is

(A) Nitrogen (B) Argon

(Cy Air {D) None

JogA Therde &g I 91 4 ¥ @F W T 98 S5l 2
(A) NEIST (B) zmi=

(C) arg (D) w1 =3

The wave shape of current flowing through an inductor is

re v ¥ godRd 9T BT 9G¥ STeIN el W @ Brer )

T -t
The wave shape of voltage drop (V) across the inductor is
AEHENR Y W B WGH A dAleearE--10T (v) BT a9 MHR BT 3 =
|r osem @

iT‘
(A) (B) v, /1
: o T x i =
T" v!T
v - _— a— e e m m e e e
(©) / ’f (D) v
(=1 ¥ — t T T .2
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The creeping is observed in

(A) Ammeter meter (B) Wattmeter

(C) Energy meter (D) Volt meter
fredor @fRT) frar oo @ frad € ol &
(A) UHER #HieR (B) drediex

(C) oIT e (D) dreEHIeR

Carbon arc lamps are commonly used in

(A) Photography (B) Cinema projectors
(C) Domestic lighting (D) Street lighting
wEE 3@ Y 1 wEw B B

(A) e A @) REm dioeey A
(C) =Re] udmrer #H (D) HSH UHII H

The energy stored in the magnetic field of a solenoid 10cm long and 2cm
diameter, with 1000 turns of carrying current of 10A is

10 A @ R F a8 BT a6l aR @ 1,000 B A w0 10 HA =
iR 2 T =rE arell gfEfereT @ wredly & % ot S w uus
BIIT?

(A) 1.15] (B) 0.015J

) 0.19) (D) 0.5)

Electrostatic instruments are used for measunng '
(A) AC and DC voltage "(B) AC Voltage and current

(C) DC voltage and current (D) AC and DC currents
Rerr Jega SuFRul fpad #GE @ WANET A @R SR B

(A) AC 3R DC dieedr (B) AC drecdalr 3R a1
(C) AC dreear 3R umi (D) AC 3R DC =i
The gain of an operational amplifier will be maximum at-
(A) 1Hz (B) 50Hz

(C) 100Hz (D) DC

Th IMNRIFASA TEBRER FHT 9 AeRFad &r—

(A) T 8cH (B) 50 &col

(C) 100 BT o = /A H

Value of R in £2
R &7 §19 £ A —

100
100V 10Q R
(A) 10 © : (B) 20 Q
(C) 30 Q D) 40 Q
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93 Distribution transformers have core losses-
(A) More than full load copper iosses
(B) Equal to full load copper losses
(C) Less than full load copper losses
(D) negligible compared to full load copper losses

: H ol srs s =5idr 27
(A) FT a7 am sE 9 s
B Pf 9rR g =TT & aSvmEy
©) PF 97 T == 9 o9
m)wfwwmﬁﬁfa%gam#m

94 Which one is not a basic logic gate?

(A) AND gate (B) NOT gate
(C) NAND gate (D) OR gate
T A Fi IR @i e a8, 2
(A) AND = B) =i 9T
(C) =8 e D) IR Ve
55 Tesla is same as
(A) weber/meter (B) weber/ (meter)?
(C) farad/ meter (D) Henry /(meter)?
THeT fhasd e 2 '
(A) g/ Mrex B) JIT/ (Hiem)?
(©C) WS/ Hex (D) BT/ (Hex)?
%6 What are the advantage of DC transmission system over AC transmission
system?

(A) DC system is economical for long hne

(B) There is no skin effect in DC system

(C) Corona limits are highest for DC circuit as compared to AC circuit
(D) All of the above
q.ﬁ.ﬁmmwvmw@@mﬁsmmﬁﬁmwg‘?
(A) 3= W&ﬁ%m?ﬁ%,a@{ﬂiﬁﬁm

(B) SI¥. gonel ¥ &7 war uaEm =€ Star

©) aﬁﬂmmqﬁ.ﬂﬁ%aﬁgﬁmﬁ@mﬁovﬁ%ﬁ&%%l

(D) IUawT T
97 NMI stands for
(A) Non-mask interface (B) Non-makeable interrupt
(C) Non-mask interaction (D) None of there
NMI &1 Jada9 88—
(A) S A T==vw B) [ A"Arehae TTE

(C) = #=vp s=Iam= D) =HrEF T8
98 The dissipation factor of good dielectric is of the order of
W FFAP DBl WY BREF 5o @1 F
(A) 0.0002 @B) 0.002 .
(C) 0.02 D) 0.1
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99 Voltage under extra high voltage are-
(A) 1KV and above (B) 11KV and above
(C) 132KV and above (D) 330KV and above
faRad Swa dleew & =P dieed 8/l &/
(A) 1 &>A IR HIX (B) 11 A IR FHIR
(C) 132 A MR FW (D) 330 Al 3R FuR
100 A passive network is one which contains
(A) Only variable resistance
(B) Only some sources of emf in it
(C) Only two sources of emf in it
(D) No source of emf in it
v OR@m eas Bar & faad
(A) Has AW¥eEa k= 21 (B) Pad BB emf HH
(C) dgel &1 emf HTH D) HE emf H™E &
101 Coal used in power plant is also known as
(A) Steam coal (B) Charcoal
(C) Coke (D) Soft coal
faorel wus § SWEe el e v9 7 W SIET Sl ©
A) T\ @gdr B) TARDIA
(C) IH (D) -I\" HIadr
102 If the height of transmission tower is increased, which of the following
parameter is likely to change?
(A) Resistance (B) Inductance
(C) Capacitance (D) None of the above
oYY TERl & SEE a9 Wi &, o e "uEsy @, Wil §kert @
T B
(A) wfeReEr B) T=HeH
(C) dHufie=H D) Sudad H § P A8l
103 One Maxwell is equal to
(A) 108webers B) 10%webers
(C) 10*webers (D) 10%webers
U Hedadd =
(A) 1078 q&§H (B) 10* A«d
(C) 10 a=d (D) 10® FEH
104 Which of the following is not part of diesel engine power plant?
(A) Cooling tower - (B) Penstock
(C) Oil pump (D) Strainer
e & Q oF a9 Jote guE fAsiell I &1 B 98 &7
(A) @®fe eEr B) AP
(C) A= wg ®) B
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105 ACSR Conductor having 7 Steel strands surrounded by 25 aluminium®

conductor will be specified as
| ZEWW%WIW%ACSR ®F P ave fAafds

far W ?
A 7 _ 7
A) >3 | B) 33
25 25 .
©) - (D) 32
1 Which of the following primary cells has the lowest voltage?
(A) Lithium (B) Zinc- chloride
) Mercury (D) Carbon-zinc
1 % A fra weife a5 3 arees s &2
_I (A) ey . (B) Riv—geiizs
(C) =TS (D) &HE9-—f3ism

197 Compressor used in gas turbines is
{(A) Reciprocating compressor (B) Plunger iype compressor
(C) Screw compressor (D) Multistage axial flow compressor

H g A gEEE R o dIAT HEIEY B
| (A) S ET PR (B) TSR <ISY Ry

(C) Y9 aw D) HERE 3 g gas ey
108 Steel poles for transmission lines need protection agamsf-
(A) Termites . (B) Borer

(D) All of the above

} (A) < (B) 9RY
(©) <7 i (D} S9viERT  wsr
109 1In a syStem if the base load is same as maximum demand. the load factor
will be
’ i er 9 9 (B) Zero
«©) Inﬁﬁfif ' (D) 1 percent
) avaha"aiﬁﬁﬁqmzﬁwﬂaﬁaehwmﬁﬂmrﬁmg‘nﬂ
A 1 £ A ®B) T3
; (©) s ™) 1 ufawa
LIO In the analysis of short transmission lines, which of the following is neglected?
' (A) I?R loss (B) Shunt admitrance
(C) - Series impeédance (D) All of the above
Y uR¥er’ g @ fRAvawor =1 & 9 eawr sasg B g 2y
(A) IPR=fy - B) T usiRdey
©) sIEsET uidEmsr D) QUAFET &N
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111 The period of a wave is
(A) the same as frequency
(B) Time required to complete one cycle
(C) expressed in amperes
(D) none of the above
v qg &1 GRTs &
(A) et S=r
B) TH =@ O X9 > fam aifea W
(C) uwfgmd & e
(D) SwRIEg ¥ § ®Ig ol
112 The power factor of a system on a 460V, 3 Phase, 60Hz, in which the
ammeter indicates 100amp and watt meter reads 62KW will be
Fr TUmell @7 UTaR $aex uT ENT Afd WUllell U¥ 460 dee, 3BOl, 60
s&o1 oY wiex 100 Amp 3R Gt 62 KW & afSt fewmr 8
(A) 0095 (B) 0.78
(C) 065 ' @) 0.5
113 A C T is connected in with the line
' (A) Series (B) across
(C) BothAand B (D) Not connected
wsp CT o & 9 7 ST BT 81
(A) HgeTt (B) 9N
(C) A 3R B @M1 D) TS T8 B
114 Armature reaction of an unsaturated DC machine is
(A) Cross magnetizing (B) Demagnetizing
(C) Magnetizing f (D) MNone of the above
sgE S W oAE 9 smieR wiaifbar & g
(A) B I ®) fErmeEfST =
©) Hmersten (D) SWREd d | P A8
115 When alternating current pass through a conductor
(A) It remains uniformly distributed throughout the section of conductor
(B) Portion of conductor near the surface carries more current as compared
to the core lt
(C) Portion of conductor near the surface carries less current as compared
' to the core ) '
(D) Entire current pas through the core conductor
Qs dHsSdel D OHRAH yaEdl ORI el &, a9
(A) I8 999 9 | TP f grT W ¥ BaRa war B
(B) R &1 gor=r # @+ gt It g/ 8l B
(©) R BF gEA G Fwos D O™ HH GRT BRu ¥
(D) T aRT BSdeY BR A Yo B B 3
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Inductance furnaces are used for

(A) Melting of aluminum (B) Heating of insulator
(C) Heat treatment of casting (D) Al of above

oo AfeeHT wE@nT fear wer 2

(A) THTE & e @ fare

(B) FTHACY T TH B B farg

(C) SIREST 1 W Su=R

(D) Furaad W
Speed control by Ward Leonard method gives uniform speed variation
(A) In one direction (B) in both direction

(C) below normal speed only (D) above normal speed only
mmﬁﬁ%ﬁﬁwﬁwmﬁmm&
(A) v faem ¥ B) = Rensi 3

(C) ™= [fa 9 9 D) "9mE= afag 4 Sux

For distortion less transmission line

T& P et wavor s @ farg

(A) R/L=G/C B) RL=GC
(C) RG-LC (D) RLGC=0

For arc heating, the electrodes used are made of-

(A) Aluminium (B) Tungsten

(C) Copper (D) Graphite
M%Eﬁ%{m%m%ﬁﬁ@sms‘ﬁ%?
(A) vegafas @B) T

(C) = D) UwIgCE

The highest voltage for transmitting electrical power in India is

WRa H faga oy wRmuer @g Semaw aretw 2

(A) 33kV B) 66kV

(C) 132kV (D) 400kV

When two conductors each of radius r are at a distance D, the capacitance
between the two is proportional to-

r%@%ﬂﬁﬁq%ﬂﬁmﬁﬂqﬂnéaﬁaﬁ;ﬁﬁﬁaﬂ
B &1 aufae ¥

D r
(A) log, ( 7] @) log, [5)
1 ' 1
= ———
& = : r
©)  log, ( - J D) log, (D]
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122 The power factor will be leading in case of -
(A) Induction heating (B) Resistance heatmg
(C) Dielectric heating (D) Electric arc heating
gae weex B § few Refa § g g 7
(A) WU SWA - ®) uftREr SHA
(C) sEzdfdgs ST D) TARES D SHA
123 The low power factor of induction motor is due to
(A) rotor leakage reactance
(B) stator reactance
(C) the reactive lagging magnetizing current necessary to generate the
magnetic flux
(D) all of the above
WWWWWWWWWW%@W%
(A) e daw Ruaesw
(B) <eeX Ruady
(C) FEE gadw O B © feg smaras Refaca Affim T =gt
T
(D) U TH
124 Alternating current is transmitted at high voltage
(A) To safeguard against pilferage
(B) To minimize transmission losses
(C) To reduce cost of generation
(D) To make the system reliable
TeTEdt SRT B YT i Sed dteen W fHAT W ¥
(A) I & Raam wn & fel
B) Hazor wfF BT dH B B g
(C) SwrEa @ @E &H B & e
@) uorh! @ fagawta 3= & o
125 Which among the following cable are generally suited for the voltage up to
11kV?
(A) Belted cabless (B) Screened cables
(C) Pressure cables (D) None of these
frefaflag St @ dw § ot WEEGE 11 kV 9@ @ deew @ fow
[YEFT B - :
(A) IS Bfas @) s Hfae
(C) YwR Dfast (D) T A PF ol
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